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�����  4 

 

)��	�����	����2*��	�)� 
 

4.1  �2	-�	�0���X�*>����
�������h��	�)�*����0������ 

4.1.1  �2	-����?��	�0���X�*>�������
���0������  

1)  0-�  �	�;�����=���	�����	 

���������F&"���'%&�*��4*  70 ��%  �&�	�$�&���	�

��%  ���	�	  49  ��%  ������	��'%

�)  70.00  �'*���������4*$"�  7�)"�'�%F�I���% 46.70   �(    '�%F	�'%����F� 21  �(  '�%F"������F� 

65 �(  �&�	�$�&'%:&�	��%���*�	 "����"
��'"�	���,����"�?�
�	KF+  7�)"���)�8���#+�	�����:�����

���	'%&�*��  (����*  4.1) 
 

�	�	�  4.1  '�%F�'*������� 
 

�	�;0������   
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�,���� 

'�%F�I���%   46.70   

              ≤  30   
              31-40 
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              >  60   
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���$��8���	���
3���  
8�&���������&�	�$�&�8���
3����	�)��8��4	��)H"
3���  
���	�	  43  ��%  ������	��'%�)  61.43  �'*���������4*$"�  ��"��H'&�	''�7�)���%	D�����	
'%&�*�� "����"��������4*��7�)�$����"�&�""�'�	������8�����"$�����#�+�&�* M �����*
:	%+g ���$	�  
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�	�	�  4.2  �)��8���
3����'*������� 
 

 

��=���	�����	 
>�	��� 

(��%) 

 

�,���� 

��)H"
3����(���  4-7 

"�K%"
3����(���   3-6 
��)��
	�%8���  (���.-���.) 

43 
16 
11 

 61.43 
22.86 
15.71 

 

��
 70  100  

���"�: ������������ 
 

2)  �	<�-���>�	����
	<*�D��������� 

��������&�	�$�&���	����	'���
$��� ���	�	  58  ��%  ������	��'%�)  82.86  �'*

���������4*$"�  7�)��:�,�����	'���
�'* �%�����������&�*���������	��
��'$���%D������"  7�)

�	��'*���'���
��:�,����*$���	��
��K��"�����"��H����*��%D���$��������D�����	'%&�*��  

	'����	�4�?%�*��8���*���������%'��	M  �	���,����"�?�
�	KF+�����	������"���������	��'*���7�**�	

"���
��'����"��%D�����%  (����*  4.3) 

�������"��"�����	��'8�����I���%��&���8  5  �	�&'��'8����  "����	�	�"����"��

����F� 7 �	�&'��'8���� 7�)	�'%����F� 3 �	�&'��'8���� E3�*�"�����&�	�$�&�	��'8�����)"��&�	

�&�"�	��)8�	���,���   �%��"�7�)=��%����	7�**�	$���  "��:�$��	�&�%��������������	8�*

������"  ��&	  �	�������%"��	7�)�����?8����%�  ���	��	  (����*  4.4) 

3)  ���
�*�C*sD�-./����>�=��	���� 


�4	���������7��*���	�J���%����������	���,��� ����#)���H�'��'*�����	$��'���"���K�A�	

�����	������������7��*	�4	 7��*H3*�H�	=�
��*���	�
�������'*�������  ������
3���
8�&�  

�������"�
�4	���������7��*,����"�?�
�	KF+������%	�� 1  9�:7��*  �(����
�)��:�  2548  �I���%��%

�)  16.36  D�&  "�
�4	������	�'*�	�'*  ���	�	  39  ��%  ������	��'%�)  55.71  �'*�������

��4*$"�    7�)���	
�4	�����&�  ���	�	  15  ��%  ������	��'%�)  21.43    7�)���	
�4	�����4*�'*�	�'*

7�)���	
�4	�����&�  ���	�	  15  ��%  ������	��'%�)  21.43     ���$��8����������"�
�4	������D"&���%�&�

��&�  ��&	  �����	�'*����  
&'7"&  ���	��	  ���	�	 1  ��% ������	��'%�)  1.43  �'*���������4*$"�  

(
�4	���  26  D�&)  (����*  4.5) 
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�	�	�  4.3  ����#)'���
�'*������� 
 

�	<�-B��� �	<�-��� 
 

�	<�- 
>�	���  
(��%) 

 

�,���� 
 

�	<�- 
>�	��� 

(��%) 

 

�,���� 

���	� 
�����	%�*
��� 
�����% 

��8���* 

       58 
          2 
          4 
          6 

  82.86 
   2.86 
   5.71 
   8.57 

D"&"�'���
�'* 
���	� 
�����	%�*
��� 
��:�,�� 

���4%*��� 
D�&	���	,�" 

��8���* 
�����% 

        6 
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        7 
      26 
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        1 
        1 
        1 
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17.14 
10.00 
37.14 
22.86 
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��
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���"�: ������������ 
 

�	�	�  4.4  ���	�	�"�����	��'8���� 
 

>�	����
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�4	������$��8,����"�?�
�	KF+	�4	��'*"����"'F�"�"8:�#+�:* '%:&�	�������)��	$��'"�	4��

�
�%*
'7�)��"��H��8�F"�)��8	4��D��  D"&"��J�$�	4���&�"$��'
���:�)8���F	7�*�	�(���,&�	"�  

	'����	�4���"����	��*�"	��"�)����
��'����	�&*����F���,���7�)	��,�,���''����$	&�%���% 

���������&������	�
��',����"�?�
�	KF+����  30  ��%  ���%�&���&������	���	��	��'*H��	  �I���%

D�&�)  146.67  8���&'9�:  �&�	�$�&�)���%�&���&��	'����D�&�) 150 8���&'9�:  ���������&������	

�
��'���,����(�)  2  9�:  ���%�&���&����	��%�(  ��)"�#�(�)  300  8���&'D�&�&'9�:  (����*  4.6) 
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�	�	�  4.5  ���"���K�A�	
�4	��� 
  

 

����h�-./���� 
>�	��� 

(��%) 

 

�,���� 


�4	����I���%  16.36 D�&/��% 

      
�4	����'*�	�'* 
      
�4	���D"&���%�&���&� 
      
�4	�����&� 
      
�4	����'*�	�'*+
�4	�����&� 
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15 
15 
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21.43 

21.43 
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���"�: ������������ 
 

�	�	�  4.6  '�����&���&������	 
 

����	�8	0<8	 
(8��/D�&/9�:) 

>�	��� 

(��%) 

 

�,���� 

'�����&���&��I���%  146.67  

            '����  100   
            '����  150   

 
             2 

28 

 
                6.67 

93.33 

��
 30 100 

���"�: ������������ 
 

4)  >�	�������	����������������	�>,	� 

�	���,�����*��������7�**�	������	�J���%���������  �	��'*������,����	�F���4	�'	

H3*7"��&��J��F8�	�)"������'*�F&	7�*"���34	  7�&%�*"����"������	��'*���7�**�	�	'%:&  E3�*
8�&� ���,���

�"�?�
�	KF+�����'*�������"���������4*7�**�	��'8����7�)7�**�	���*  7�&���7�**�	���*"����&� E3�*

"�������7�**�	��'8�����I���%  2.37  �	�&'��'8����  7�)���7�**�	���*�I���%  11.71  �	�&'

��'8����  (����*  4.7) 

 

5)  �	�?=,����������� 

���������)�'8'���
'��		'��$	�'���������	�  ����$��������"���%D�����$��%��* 


8�&� �������"���%D����4*$"��'*��'8�����	�(   2548   �%�I���%��'8�����)  160,885.71  

8���&'�(  "���%D��"������F���'��'8�����)  300,000  8���&'�(  7�)"���%D��	�'%����F���'��'8����

�)  15,000  8���&'�( �"��'
����#�7%���"�&�*�'*��%D��  
8�&�  ��������&�	�$�&"���%D��

��4*$"��'*��'8����'%:&�	�&�*  50,000-100,000  8���&'�(   (����* 4.8) E3�*��%D���'*
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��'8��������������	�����4�&���������)��"��H�
��"����*�F	�
��'�%�%���,����$�"���34	�	9�:

H��D�$��'D"&   
 

�	�	�  4.7  ���	�	7�**�	�	���,��� 
 

����	��������� ����	�>,	� 
>�	�������	� 

(�	) 
>�	��� 
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�,���� 
>�	�������	� 

(�	) 
>�	��� 

(��%) 

 

�,���� 
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1.43 
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4.29 
      14.29 

2.86 
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2.83 
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���"�: ������������ 
 

�	�	�  4.8  ��%D���'*��'8���� 
 

�	�?=,   
(8���&'��'8�����&'�() 

>�	��� 

(��%) 

 

�,���� 

��%D���I���%  160,885.71   

           ≤  50,000   
           50,001- 100,000   

           >  100,000   
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57.15 
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6)  �	�D<,0�*����;�����B�8�0�*��3, 

�*�	�F	��������������	���,����"�?�
�	KF+���� ���	�J���%���7��*H3*���"
��'"�	���,���  

������
3���
8�&������������*�	�*�F	�	���,���  �I���%��%�)  52,214.29  8��  �"��'������	�*�	

�*�F	�I���%�&'D�&  ��&���8  3,192.14  8��  ����*�	�*�F	"������F�  ��'  ��%�)  90,000  8��  7�)

����*�	�*�F		�'%����F�  ��'  ��%�)  23,000  8��  E3�*�������*�	�*�F	�'*�������"���4*�*�	�F	�'*

�	�'*7�)�������:�%�"  "���������������*�	�*�F	�'*�	�'*��4*$"�  ���	�	  36  ��%    7�)

��������������*�	�*�F	�'*�	�'*�&�"��8�*�	�:�  ���	�	  34  ��%  (����*  4.9)  ��������:�%�"�*�	

�*�F	�I���%��%�)  22,647.06  8�� "�7$�&*�*�	�:�$��%7$�&*  7�&�&�	�$�&�)�:�%�"���K	����

$":&8��	  �	'�����'��8�4%��'%�)  1.50  8���&'�(  �	��'*����:�%�"D���)�����������F���%������	

�"�����'*�'*�F	$":&8��	��"��H�:�D��   �%����4����)��	E3�*��	7�)��	�)$�&�*�"��������:�%�"  (����*  

4.10) 
 

�	�	�  4.9  �������*�	�*�F	 
 

 

�	�D<,0�*����;� 
>�	��� 
(��%) 

 

�,���� 

�*�	�*�F	�I���%  52,214.29  8�� 
      �*�	�*�F	�'*�	�'* 
      �*�	�*�F	�'*�	�'*+�:�%�" 

 
36 
34 

 
51.43 
48.57 

��
 70 100 

���"�: ������������ 

 
�	�	�  4.10  7$�&*�*�	�:� 
 

 

�B�8�0�*��3, 
����	=��0��/� 
(8���&'�() 

>�	��� 
(��%) 

 

�,���� 

�*�	�:��I���%  22,647.06  8�� 
      K.�.�. 
      �$��#+ 
      �
��'	8��	 
      ���� 
      K	����$":&8��	 
      '��	 M  

 
5.50 
5.00 
5.00 
5.00 
1.50 
0.50 

 
             1 
             2 
             6 
           10 
           14 
             1 

 
             2.94 
             5.88 

17.65 
29.41 
41.18 

             2.94 
��
  34 100 

���"�: ������������ 
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4.1.2  ����h��	�)�*�0
�c=-��C;5�,	����0������ 

���������F&"���'%&�*��:����� �%��K�$�&�		4���"  ��' ���$�&�	����*'��*�	7��*	����"�

�������%"��	 �%���DH�)DH7��7�)������'�D��'%&�*��  E3�*���,����"�?�
�	KF+�����	9�:7��*  �'*�(

����
�)��:�  2548  ��������)����"$�&�	��4*7�&�&�*���*���'	K�	���"  2547  H3*���'	"����"  

2548  7�)��?8����%��	�&�*���'	"�	��"H3*�"��%	  2548  E3�*"���4	�'	���,�����*	�4 

1)  �	�0����
=*� 

��������&�	�$�&���8�����"��4	�'	�������	�	���,������
:	%+g ���$	�  �%�)����%"��	

 �%���DH�)�
��'���8 ��*����*��	7�)�����	  7����3*DH7���
��'���������
��  %&'%��	7�)��*	4��D��

�
��'%&'%���%�
�
����)"�#  15  ��	  7����3*������'�  �&�	�����������$��'�)����%"��	 �%���DH

�)'%&�*���%�7����3*������'�  ���������'�	�4	���	��������
��'���8
�4	����$��"�����"'7�)D"&"�	4����* 

�������%"��	 �%���DH
��	�����)�&�%��������	
�����4'�����:��	7��*���9�:���,&�	"�  �����7�&*��	

�'*���
����8��	����E3�*�)����$���	����*'�D����7�)�"�����"'����$�D��,�,���"��  7�)�G'*��	����+
��

$'%  �:  �����	��	�����	�)%)�������%  (����*  4.11) 
 

�	�	�  4.11  �������%"��	 
 

 

�	�0����
=*� 
>�	��� 

(��%) 

 

�,���� 

      DH�) 
      DH�)7�)DH7�� 

20 
50 

28.57 
71.43 

��
 70 100 

���"�: ������������ 
 

2) �	�0����
0
�c=-��C;5��3� 

�����������"�?�
�	KF+�I���%  20  �� ����"�&'D�&  E3�*���	'��������$"�)�"���$��8�����:�

788��K�$�&�		4���"  �
��'��'*����$�����7���'��)"�#  150-300  ��	�&'����*�"��7�)"�'����

����%�%�"�?�
�	KF+'%&�*����  1:25  E3�*�����������%"�"�?�
�	KF+ �%���	���"�?�
�	KF+��&��)�'8�'

	��D�7�&	4��	�	 24 ���� "* 	��"�$F�"���%,���F8	4��'�����4*	�	 24-48  ���� "*  �	�"�?���������"*'�  �3*

	��D�$�&�	��)��%���	7��*%&'%$��'���	��)�*   (����*  4.12)  �������$��"�?�
�	KF+*'��&'		��D�

$�&�	  �&�%�$���	������"��H��������8 ��	7��*	�D�������?�  7�&*��	��8���
��D����  7���'7�)�$�

���	�	�"�?��&'��*�:*   
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3) �	�>�=�	��/�	 

���������	4��$��'�����8�F"�)��8	4���	7��*,����"�?�
�	KF+����  ���	������"�����'*

���8�����'�9�:����
�)��:�  �	��'*���$����	����D����8���"�#	4������$"�)�"��8�&�*�����������8 �

�)����$�,�,������D��"��F#=�
�:*   �%
8�&�  $��*�������*'�  10  ��	  ��������&�	�$�&�)��*	4��D��

�:*  10  �E	���"��  �	H3*�)%)��4*��'*7�)''��'�  7����)�)8�%	4��''��&'	��?8����%���)"�#  15  

��	  (����*  4.13)  �����8�F"������)��8	4������$"�)�"��8�)%)�����������8 ��'*��	��������$���	

����7�&*��	��8���
��D����  �3*�FN%7�)K��F'�$���	��	D����D����?"���  7���'"��7�)�$�,�,����:* 
 

�	�	�  4.12  �������%"�"�?�
�	KF+��:� 
 

 

�	�0����
0
�c=-��C;5��3� 
>�	���   

(��%) 

 

�,���� 

����0��	�	��<80
�c=-��C;5         	�	    24  ���� "* 70 100 

����0��	�	�B;,
0
�c=-��C;5    	�	   24  ���� "* 
                                             	�	   32  ���� "* 
                                             	�	   36  ���� "* 
                                             	�	   42  ���� "* 
                                             	�	   48  ���� "*    

             5 
             8 
           28 

1 
          28 

                7.14 
11.43 
40.00 

               1.43 
40.00 

��
 70 100 
�*C��	�B�8	��/�	�
                  78&*���	7��*%&'% 
                                       D"&78&*���	7��*%&'% 

51 
19 

72.86 
27.14 

��
 70 100 

���"�: ������������ 
 

4) �	�D<,�;m�0�
� 

  �������FN%��"��"���"��'*����'*�����	7�&�)�)%)�����������8 ��)�&�%�
��",�,���

�$��:*�34	 �	'����7�)���"�#����$"�)�"��8�=�
�'*��	 ������
3���
8�&���������&�	�$�&"����

��&�FN%  2  ���4*�&'9�:  ���	�	  67  ��%  7�)��&�FN% 1 ���4*�&'9�: ���	�	 3 ��% (����*  4.14)  ���4*

7���"��'����'�%F	�'%��&�  30  ��	 �:��  16-20-0  '����  21-30  �� ����"�&'D�&  E3�*�:���FN%���

7	)	���$���&�	�)%)$��*����*'�  20-25  ��	��'  �:��  16-20-0  18-22-0  $��'  20-20-0  �	

'����  25-30  �� ����"�&'D�&  �
��'����"����*�����������8 �7�)���7���'   ���$��8������������&

�FN%���4*���  2  ���%  �&�	�$�&�)��&�"��'����'�%F�)$�&�*  51-60  ��	  ����:��  46-0-0  '����	�'%��&�  

20  �� ����"�&'D�&  (����*  4.15)   
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�	�	�  4.13  ���������	4�� 
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��*
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�,���� 
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��
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5) �	����>��	>�=-��C;5�� 

�
��'�$�D���"�?�
�	KF+�������8���F�K�A��*��"��%
�	KF+  ���������'*������
�	KF+�	�F��)%)

�����������8 ��'*����  ��4*7�&�)%)����  �)%)7���'H3*''��'�  7�)�)%)''���*H3*�F�7�&   �%

��������	���,������''�D������%	'�7��* E3�*��	
�������'*H'	�����% ��'��	
��'��	  ��	����
�	KF+'��	

$��'�������4'�����'%:&�	7��*���9�:���,&�	"�  7�)��	�������,������  ���	��	  �&�	�$�&������
�	KF+�	 3 

���4*�&'9�: (����*  4.16) ���4*7���)%)����  ���4*���  2  �)%)7���'  7�)���4*���  3  �)%)''���*  
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7�)�)������
�	KF+�	��'�9�:����	��&��)��?8����%�  E3�*$������������8�����"$�����#�+�������

7�)������
�	KF+�	'%&�*���&*���� �)����$�D��,�,������"��F#=�
��*
�	KF���"�:*  (����*  4.17) 
 
�	�	�  4.15  �����&�FN%��"� 
 

�	�D�8�;m����/���� �	�D�8�;m����/����  2 
 

�	�D�8�;m� 
>�	��� 
(��%) 

 

�,���� 
 

�	�D�8�;m� 
>�	��� 
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�	KF+�	    3  ���4*�&'9�: 
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�	�	�  4.17  �)%)�������������
�	KF+�	 
 

��	>�=-��C;5�� ���/���� ��	>�=-��C;5�� ���/���� 2 ��	>�=-��C;5�� ���/���� 3 
 

���� 
>�	��� 
(��%) 

 

�,���� 
 

���� 
>�	��� 
(��%) 

 

�,���� 
 

���� 
>�	��� 
(��%) 

 

�,���� 

���� 
����-7���' 
7���' 
��?8����%� 

   64 
1 
3 
2 

 91.42 
1.43 
4.29 
2.86 

7���' 
��4*��'* 
��?8����%� 

   59 
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   1.49 

��4*��'* 
''���* 
�F�7�& 
��?8����%� 
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45 
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���"�: ������������ 
 

6) �	��l�������	>�=��<-.< 4�� �
�� �������5����3�,	� 

6.1)  �	��l�������	>�=��<-.< 

��������F���%��)�8�J�$����
��  ���
�����������
8���	�&�	�$�&�	7��*,����"�?�


�	KF+���� D��7�& (1) $�������	� ������	��'%�) 94.29  (2) $���D"�����  ������	��'%�)  45.71 

(3) $���$	���F�  ������	��'%�)  24.29  ��"�����8  ��������G'*��	���������
��  �%���H'	��4*

�&�"��8��������"�I��
&	  ���	�	  46  ��%  �'*�*"��G'*��	������ �%���H'	��4*�
�%*'%&�*���%�  

���	�	  20  ��%   7�)�G'*��	 �%�����������"�I��
&	'%&�*���%�  ���	�	  4  ��%  (����*  4.18)  

����������"��J�$�����'*���
�� 	'�����)�G'*��	������ �%���I��
&	�����"�7���%�*��'*H'	�����%��4*

���%  �	��'*��������������"��
�%*'%&�*���%�'��D"&��"��H�����%���
��D���F��	�� ��������K�������"

����� ��&	  ���H'	�����%���	'����K�$	3�*����&�%�$�7��*,����"�?�
�	KF+��'����
�����%7�*����&*,��&'

�F#=�
�'*,�,���   �%�I
�)�"�?�$�������	�������	���
����'*$��"  $���F&"
8�"�?�$�������	�

�
�%*�"�?����%��	�'*�"�?�
�	KF+  ��������)D"&��"��H���$	&�%�$�
:	%+g D��  ��������3*��'*$"��	

H'	���
��''������%��'����� 
 

�	�	�  4.18  ����G'*��	���������
�� 
 

 

�	��l�������	>�=��<-.< 
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�,���� 
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      H'	��4*+��������"� 
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��
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6.2)  �	��l�������	>�=4���,	� 

���$��8����)8���'* ������	�4	  "�������������)�8�J�$� ������  ���	�	  34  ��%  

������	��'%�)  48.57  �'*���������4*$"�   ���������
8"������F��	7��*,����"�?�
�	KF+����  

D��7�&  (1)  ��D$"��'��*  ������	��'%�)  52.54 (2)  ���8�F���	4�����  ������	��'%�)  35.29  

(3)  ���8D$"�  ������	��'%�)  14.71  ��"�����8  ��������G'*��	������ �%��������"�I��
&	  

���	�	  29  ��%  ������	��'%�)  85.29  �'*������������)�8�J�$� ������  (����*  4.19)   

�	��'*��� ����������D���F��)%)�����������8 ��'*����  ���4' ������8�*�	�����������%��4*7�&�	�)%)

���� �	��?8����%�7�)���D���8�"�?�
�	KF+���%  �����������"�I��
&	�&'	����)8�����	��K����������F��	

����G'*��	 ��D"&�$�����7�)D"&�$��)8�����	�*����*"���34	 
 

�	�	�  4.19  ����G'*��	������ ������ 
 

 

�	��l�������	>�=4���,	� 
>�	��� 
(��%) 

 

�,���� 

      ��������"� 
      D"&�G'*��	������ 

29 
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��
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���"�: ������������ 
 

6.3)  �	��l�������	>�=�
������3�,	� 

���������)�8�J�$���������%�'*7"�*
���: ���	�	 34  ��% ������	��'%�)  48.57  

�'*���������4*$"�  7"�*
���:�������
8"���	7��*,����"�?�
�	KF+����  D��7�&  (1) 7"�*��*  ���

���	��'%�)  67.65  (2) $	'	�'  $	'	$&'�8����  �
��4%�8��� ������	��'%�)  8.82  (3) �
��4%

��) ����	4�����  ������	��'%�)  5.88  ��"�����8  ��������G'*��	������ �%��������"�I��
&	  

���	�	  27  ��%  ������	��'%�)  79.41  �'*������������)�8�J�$�7"�*
���:����  (����*  

4.20)  E3�*���I��
&	�����"����	��K����������F����$��8����G'*��	7�)������7"�*
���:����  �	��'*���$��

��&'%D���	��������)8��7����)D"&��"��H��?8����%�,�,���D����%  7�)�)���8"��)8��'���	9�:

H��D����%$��D"&�����%�*���'*7"�*
���: 

 
6.4)  �	��l�������	>�=����5����3�,	� 

���������)�8�J�$���������%�'*����+
���: ���	�	 38 ��%  ������	��'%�)  54.29  

�'*���������4*$"�  ����+
���:�������
8"���	7��*,����"�?�
�	KF+����  D��7�&  (1) $	:	�  ������	
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��'%�)  60.53  (2) $'%��'��  ������	��'%�)  47.37  (3) $	'	��	�8����  ������	��'%�)  10.53  

��"�����8 ��������G'*��	������ �%�����K�����$"�)�"��8����+
���:7�&�)�	�� ��&	 �����*���$	:	�  ���

�����$�&�	�
��'�&�$'%��'��  $��'���$��%��K��&�"��	�"��'"��J�$�����+
���:$��%�	��7�&$������)8��

D"&�F	7�*�������'��D"&�G'*��	������  (����*  4.21) 
 

�	�	�  4.20  ����G'*��	������7"�*
���:���� 
 

 

�	��l�������	>�=�
������3�,	� 
>�	���   

(��%) 

 

�,���� 

      ����:��$"?	 
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��
 34 100 

���"�: ������������ 
 

�	�	�  4.21  ����G'*��	����������+
���:���� 
 

 

�	��l�������	>�=����5����3�,	� 
>�	��� 
(��%) 

 

�,���� 

      ��*���  ($	:	�) 
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          12 
          12 

3 
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��
 38 100 

���"�: ������������ 
 

7)  �	�0�c�0����� 

��������&�	�$�&���$	���	��?8����%�  �%
����#�������"�?�����  ����)����"�����%	�����

���%����	����*����$��'���%��&��)%)
��8
�3*  7�)��?8����%� �%����H����%�	��  8���F�"�?�
�	KF+ 

��)�'8�)��)"�#  60  �� ����"  �
��'���"�)����	����	%��%7�)���'8�����"��4	��4*��)�'8 

�)$�&�*�'�	�&*��������)��*��)�'8�"�?�
�	KF+D��8	D"�$��'����F��	���"��4	  �
��'�G'*��	���"

���%$�%����)"�,��&'�F#=�
�'*�"�?�
�	KF+  (����*  4.22) 
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�	�	�  4.22  ����#)�����?8����%� 
 

 

�	�0�c�0����� 
>�	��� 

(��%) 

 

�,���� 

��	B�=���0�c�0�����       ����#) �	��* 
                                ���"�?����� 

 1 
69 

 1.43 
98.57 

��
 70 100 
�*C��	�0�c�0�����          �����'*����%�	�� 70 100 
�/�	B������>;               60  �� ����"/��)�'8 
                                65  �� ����"/��)�'8 

52 
18 

74.29 
25.71 

��
 70 100 
��?8������'����	�&*        ��*8	D"�   70 100 

���"�: ������������ 
 

4.1.3  �	�D<,�E>>���8	� u D��	�)�*�0
�c=-��C;5�,	����0������ 

1)  ��*
	h�	�D<,�E>>���	�)�*� 

������
3������,����"�?�
�	KF+�����'*�������
8�&�  �����������"�?�
�	KF+�I���%  20  

�� ����"�&'D�&  ������	�*�	�I���%  214.94  8���&'D�&  ����FN%��"��I���%  42.09  �� ����"�&'D�&  ������	

�*�	  453.88  8���&'D�&  �����������"��G'*��	7�)������
���:�����'*�������78&*���	  2  ��)�=�  

��'��)�=�����)��%7�)��)�=�,*$��''��	 M   
8�&���������"���)�=�����)��%�I���%  1.85  

�����&'D�&  7�)��������"���)�=�,*7�)'��	 M �I���%  29.53  �� ����"�&'D�&  ������	�*�	��"��	�I���%  

77.61  8���&'D�& 7�)���	4��"�	���4'�
��*�I���%  8.77 �����&'D�& ������	�*�	�I���% 134.57 8���&'D�&  

(����*  4.23) 
 

�	�	�  4.23  �������J���%���,��� 
 

 

�E>>���	�)�*� 
>�	��� 

($	&�%/D�&) 
0�v�0�*� 

(8��/D�&) 
      �������"�?�
�	KF+  (��.) 
      �������FN%��"�  (��.) 
      �����������"��G'*��	������
���:���� (����) 
      �����������"��G'*��	������
���:����  (��.) 
      ������	4��"�	���4'�
��*  (����) 

20.00 
42.09 
1.85 
29.53 
8.77 

214.94 
453.88 

 
 

134.57 
��
  881.00 

���"�: ������������ 
 

       77.61 



 

 

52 

               �"��'��"�&�����&�%�I���%�'*�������J���%���,����F��	�� E3�*D��7�& �"�?�
�	KF+  �FN%��"�  

�����"��G'*��	7�)������
���:����7�)	4��"�	���4'�
��*7���  ��������)"����"�#�������J���%���,���

������	�*�	�I���%  881.00  8���&'D�&�&'9�: 
 

2)  ��*
	h�	�D<,���-�5�*��	��	�0���� 

              ���
%+��	��*���������'*����������������
3�����)�'8���%  �HDH	�  �����'*�:8	4��  

�&'�:8	4��  �����'*I��
&	�����"�  7�)'F���#+'��	 M ��&	  ��*�HDH	�  ����  �H
&�*  �'8  DH  

,�	�&�* M ���	��	  

2.1)  �:?:�	 

�������"��HDH	����	�'*�	�'*  ���	�	  14  ��%  ������	��'%�)  20.00  �'*

���������4*$"�  "�  1  ��	  ���	�	  13  ��%  7�)"� 2  ��	  ���	�	  1  ��%  ������	��'%�)  

92.86  7�)��'%�)  7.14  �'*����������"��HDH	����	�'*����'*  ��"�����8  �����I���%��	�)  

46,900.00 8��  '�%F������*�	�I���%  19.32  �(  �&�	�$�&���*�	"�7���	�'%��&�  5  �(  7�)���*�	

D��'��"����&�  15 �(  "��&�E&'"7E"���,&�	"�������	�*�	�I���%��%�)  2,733.33  8���&'9�:  ���*�	�	

���,����"�?�
�	KF+�I���%  4.86  ��	�&'9�:  ����	���,���������	��'%�)  100  �'*���"�#�������HDH

	���4*$"�  (����*  4.24) 

2.2)  0��.����3��/�	 

�������"������'*�:8	4�����	�'*�	�'*  ���	�	  34  ��%  ������	��'%�)  48.57  �'*

���������4*$"�  "�  1  �����'*  ���	�	  31  ��%  7�)"�  2  �����'*  ���	�	  3  ��%  ������	��'%�)  

91.18  7�)��'%�)  8.82  �'*����������"������'*�:8	4�����	�'*����'* ��"�����8 �����I���%�����'*�) 

11,814.71  8��  '�%F������*�	�I���%  10.69  �( �&�	�$�&���*�	"�7���	�'%��&�  5  �(  7�)���*�	

D��'��  5-10 �(  "��&�E&'"7E"���,&�	"�������	�*�	�I���%��%�)  2,420.00  8���&'9�:  ���*�	�	���

,����"�?�
�	KF+�I���%  6.76  ��	�&'9�:  ����	���,���������	��'%�) 95.59 �'*���"�#�����������'*

�:8	4����4*$"�  (����*  4.24) 

  2.3)  �8��3��/�	 

�������"��&'�:8	4�����	�'*�	�'*  ���	�	  54  ��%  ������	��'%�)  77.14  �'*

���������4*$"�  �&�	�$�&"� 1 �&'  ���	�	  34  ��%  ������	��'%�)  62.96  �'*����������"��&'

�:8	4���'*�	�'*  �'*�*"�"�  2  �&'  ���	�	  13  ��%  ������	��'%�)  24.07  �'*����������"��&'

�:8	4���'*�	�'*  7�)"�  3  �&'  ���	�	  4  ��%  "�  4  �&'  ���	�	  3  ��%  ������	��'%�)  7.14  
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7�)��'%�)  5.56  �'*����������"��&'�:8	4���'*�	�'*  ��"�����8    �����I���%�&'�)  3,039.81  

8��  '�%F������*�	�I���%  5.37  �(  �&�	�$�&���*�	"�7���	�'%��&�  3  �( 7�)���*�	D��'��"����&�  

5 �(  "��&�E&'"7E"���,&�	"�������	�*�	�I���%��%�)  662.50 8���&'9�:  ���*�	�	���,����"�?�
�	KF+

�I���%  5.28  ��	�&'9�:  ����	���,���������	��'%�)  92.04  �'*���"�#�������&'�:8	4����4*$"�  

(����*  4.24) 

2.4)  0��.���1�=-8��	�0�
� 

�������"������'*I��
&	�����"����	�'*�	�'* ���	�	 34  ��% ������	��'%�)  48.57  

�'*���������4*$"�  "� 1  �����'*  ���	�	  29  ��%  7�)"� 2  �����'*  ���	�	  5  ��%  ������	��'%

�)  85.29  7�)��'%�)  14.71  �'*����������"������'*I��
&	�����"����	�'*����'*  ��"�����8  

�����I���%�����'*�)  1,557.79  8��  '�%F������*�	�I���%  10  �(  ���*�	"�7���	�'%��&�  3  �(  7�)

���*�	D��'��"����&�  5 �( "��&�E&'"7E"���,&�	"�������	�*�	�I���%��%�)  925.00  8���&'9�:  ���*�	

�	���,����"�?�
�	KF+�I���%  4.00  ��	�&'9�:  ����	���,���������	��'%�)87.06   �'*���"�#������

�����'*I��
&	�����"���4*$"�  (����*  4.24) 

2.5)  �;���h5�.�� u  

�������"�'F���#+'��	M ��&	  ����  DH  �H
&�*  �:��� ���	�'*�	�'*  ���	�	  6  ��%  

������	��'%�)  8.57  �'*���������4*$"�   �%"�  1  ��4	  ���	�	  4  ��%  7�)"�  2  ��4	  ���	�	  

2  ��%  ������	��'%�)   66.67  7�)��'%�)  33.33  �'*����������"�'F���#+'��	M ���	�'*����'*  

��"�����8  �����I���%��4	�)  5,991.67  8��  '�%F������*�	�I���%  7.83  �(  ���*�	"�7���	�'%��&�  

3  �(  7�)���*�	D��'��"����&�  3  �(  "��&�E&'"7E"���,&�	"�������	�*�	�I���%��%�)  1,500.00  8��

�&'9�:  ���*�	�	���,����"�?�
�	KF+�I���%  4.50  ��	�&'9�:  ����	���,���������	��'%�)  96.67 �'*

���"�#������'F���#+'��	 M ��4*$"�  (����*  4.24) 
 

3)  ��*
	h�	�D<,����	� 

 3.1)  �	�0����
=*� 

�	��4	�'	�������%"��	  
8�&�������������4*7�**�	��'8����7�)7�**�	���*  "�

�&�7�**�	���*�	�������%"��	�I���%  234.38  8��/��	/�	  �&�	�&�7�**�	��'8����������  155  

8��/��	/�	   �%���7�**�	��'8����  ���	�	  14  ��%  ������	��'%�)  20.00  �'*�������

��4*$"�  7�)���7�**�	���*  ���	�	   56  ��%  ������	��'%�)  80.00  �'*���������4*$"�   
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���7�**�	��'8�����I���%   3.07 �	�&'��'8����    ���*�	�I���%  8.00  ���� "*/��	/

��'8���� ���	�	��	���*�	�I���%  4.64 ��	�&'��'8���� ������	�&�7�**�	��'8�����	�������%"��	

��&���8  2,207.95 8���&'��'8���� �I���% 134.96 8���&'D�&�&'��'8����   ���7�**�	���*�I���%  

4.57  �	�&'��'8����    ���*�	�I���%  7.98  ���� "*/��	/��'8����  ���	�	��	���*�	�I���%  3.13  

��	�&'��'8����  ������	�&�7�**�	���*�	�������%"��	��&���8  3,344.20  8���&'��'8����  �I���%  

204.41  8���&'D�&�&'��'8���� 

������	�&�7�**�	����%"��	��"��&���8  5,551.95  8���&'��'8����  �I���%  339.37  

8���&'D�&�&'��'8����  (����*  4.25) 

  3.2)  �	���3� 

�	��4	�'	�����:�  
8�&�������������4*7�**�	��'8����7�)7�**�	���*  "��&�7�**�	

���*�	�����:��I���%  146.04  8��/��	/�	  �&�	�&�7�**�	��'8����������  155  8��/��	/�	  

 �%���7�**�	��'8����  ���	�	  19  ��%  ������	��'%�)  27.14 �'*���������4*$"�  7�)���

7�**�	���*  ���	�	  51  ��%  ������	��'%�)  72.86  �'*���������4*$"�   

���7�**�	��'8�����I���%  3.21  �	�&'��'8����    ���*�	�I���%  7.79  ���� "*/��	/

��'8����  ���	�	��	���*�	�I���%  1.38  ��	�&'��'8����  ������	�&�7�**�	��'8�����	�����:�

��&���8  598.12  8���&'��'8����  �I���%  36.56  8���&'D�&�&'��'8����   ���7�**�	���*�I���%  

3.49  �	�&'��'8����   ���*�	�I���%  7.76  ���� "*/��	/��'8����  ���	�	��	���*�	�I���%  1.14  

��	�&'��'8����  ������	�&�7�**�	���*�	�����:���&���8  563.60  8���&'��'8����  �I���%  34.45  

8���&'D�&�&'��'8���� 

������	�&�7�**�	��:���"��&���8  1,161.72  8���&'��'8����  �I���%  71.01  8���&'

D�&�&'��'8����  (����*  4.25) 

  3.3)  �	�>�=�	��/�	 

�	��4	�'	���������	4��  
8�&�������������4*7�**�	��'8����7�)7�**�	���*  "�

�&�7�**�	���*�	���������	4���I���%  95.91  8��/��	/�	  �&�	�&�7�**�	��'8����������  155  

8��/��	/�	   �%���7�**�	��'8����  ���	�	  24  ��%  ������	��'%�)  34.29  �'*�������

��4*$"�  7�)���7�**�	���*  ���	�	  48  ��%  ������	��'%�)  68.57  �'*���������4*$"�   

���7�**�	��'8�����I���%  2.13  �	�&'��'8����    ���*�	�I���%  7.42  ���� "*/��	/

��'8����  ���	�	��	���*�	�I���%  1.74  ��	�&'��'8����  ������	�&�7�**�	��'8�����	���������

	4����&���8  532.84  8���&'��'8����  �I���%  32.57  8���&'D�&�&'��'8���� 
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���7�**�	���*�I���%  1.48  �	�&'��'8����    ���*�	�I���%  5.10  ���� "*/��	/��'8����  

���	�	��	���*�	�I���%  4.75  ��	�&'��'8����  ������	�&�7�**�	���*�	���������	4����&���8  429.83  

8���&'��'8����  �I���%  26.27  8���&'D�&�&'��'8���� 

������	�&�7�**�	������	4����"��&���8  962.67  8���&'��'8����  �I���%  58.84  8��

�&'D�&�&'��'8����  (����*  4.25) 

  3.4)  �	���	>�=����3-.< 

�	��4	�'	���������
���:
��  
8�&�������������4*7�**�	��'8����7�)7�**�	���*  "�

�&�7�**�	���*�	���������
���:
��  �I���%  117.71  8��/��	/�	  �&�	�&�7�**�	��'8����������  

155  8��/��	/�	   �%���7�**�	��'8������4*  70  ��%  7�)���7�**�	���*  ���	�	  46  ��%  ���

���	��'%�)  65.71  �'*���������4*$"�   

���7�**�	��'8�����I���%  2.14  �	�&'��'8����    ���*�	�I���%  5.91  ���� "*/��	/

��'8����  ���	�	��	���*�	�I���%  19.19  ��	�&'��'8����  ������	�&�7�**�	��'8�����	���������


���:
����&���8  4,702.36  8���&'��'8����  �I���%  287.43  8���&'D�&�&'��'8����  ���7�**�	

���*�I���%  1.57  �	�&'��'8����    ���*�	�I���%  6.30  ���� "*/��	/��'8����  ���	�	��	���*�	

�I���%  4.76  ��	�&'��'8����  ������	�&�7�**�	���*�	������������
���:
����&���8  692.74  8���&'

��'8����  �I���%  42.34  8���&'D�&�&'��'8���� 

������	�&�7�**�	������
���:
����"��&���8  5,395.10  8���&'��'8����  �I���%  

329.77  8���&'D�&�&'��'8����  (����*  4.25) 

 3.5)  �	�D�8�;m� 

�	��4	�'	�����&�FN%  
8�&�������������4*7�**�	��'8����7�)7�**�	���*  "��&�7�**�	

���*�	�����&�FN%  �I���%  84.28  8��/��	/�	  �&�	�&�7�**�	��'8����������  155  8��/��	/�	  

 �%���7�**�	��'8����  ���	�	  41  ��%  ������	��'%�)  58.57  �'*���������4*$"�  7�)���

7�**�	���*  ���	�	  29  ��%  ������	��'%�)  41.43  �'*���������4*$"�   

���7�**�	��'8�����I���%  2.41  �	�&'��'8����    ���*�	�I���%  6.66  ���� "*/��	/

��'8����  ���	�	��	���*�	�I���%  1.24  ��	�&'��'8����  ������	�&�7�**�	��'8�����	�����&�FN%

��&���8  385.61  8���&'��'8����  �I���%  23.57  8���&'D�&�&'��'8����  ���7�**�	���*�I���%  

6.93  �	�&'��'8����    ���*�	�I���%  6.66  ���� "*/��	/��'8����  ���	�	��	���*�	�I���%  1.03  

��	�&'��'8����  ������	�&�7�**�	���*�	�����&�FN%��&���8  500.82  8���&'��'8����  �I���%  30.61  

8���&'D�&�&'��'8���� 
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������	�&�7�**�	��&�FN%��"��&���8  886.43  8���&'��'8����  �I���%  54.18  8���&'

D�&�&'��'8����  (����*  4.25) 

  3.6)  �	�0�c�0����� 

�	��4	�'	�����?8����%�  
8�&��������D"&���7�**�	��'8�����	��4	�'	�����?8����%�  

���7�**�	���*�	�����?8����%���4*  70  ��%  7�)�&�7�**�	���*�	�����?8����%�  �I���%  423.94  8��/

��	/�	    ���7�**�	���*�I���%  11.63  �	�&'��'8����    ���*�	�I���%  8.00  ���� "*/��	/��'8����  

���	�	��	���*�	�I���%  1.13  ��	�&'��'8����  ������	�&�7�**�	���*��&���8  5,571.38  8���&'

��'8����  �I���%  340.55  8���&'D�&�&'��'8����  (����*  4.25) 

  3.7)  �	�����
��� 

�	��4	�'	����	��"�'*  
8�&�������������4*7�**�	��'8����7�)7�**�	���*  "�

�&�7�**�	���*�	����	��"�'*  �I���%  59.70  8��/��	/�	  �&�	�&�7�**�	��'8����������  155  

8��/��	/�	   �%���7�**�	��'8����  ���	�	  6  ��%  ������	��'%�)  8.57  �'*���������4*$"�  

7�)���7�**�	���*  ���	�	  64  ��%  ������	��'%�)  91.43  �'*���������4*$"�   

���7�**�	��'8�����I���%  3.00  �	�&'��'8����    ���*�	�I���%  8.00  ���� "*��	/

��'8����  ���	�	��	���*�	�I���%  1.00  ��	�&'��'8����  ������	�&�7�**�	��'8�����	����	��"

��&���8  465.00  8���&'��'8����  �I���%  28.42  8���&'D�&�&'��'8����   ���7�**�	���*�I���%  

11.09  �	�&'��'8����    ���*�	�I���%  8.00  ���� "*/��	/��'8����  ���	�	��	���*�	�I���%  1.10  

��	�&'��'8����  ������	�&�7�**�	���*�	����	��"�'*��&���8  728.28 8���&'��'8����  �I���%  

44.52  8���&'D�&�&'��'8���� 

������	�&�7�**�	�	��"�'*��"��&���8  1,193.28  8���&'��'8����  �I���%  72.94  

8���&'D�&�&'��'8����  (����*  4.25) 

  3.8)  �	����8� 

�	��4	�'	����	�&*  
8�&��������D"&���7�**�	��'8�����	��4	�'	����	�&*  ���

7�**�	���*�	����	�&*��4*  70  ��%  7�)�&�7�**�	���*�	����	�&*  �I���%  366.67  8��/��	/

��'8����   ���7�**�	���*�I���%  11.59  �	�&'��'8����   ���*�	�I���%  8.00  ���� "*/��	/�	  

���	�	��	���*�	�I���%  1.16  ��	�&'��'8����  ������	�&�7�**�	���*�	�&*��&���8  4,929.66  8��

�&'��'8����  �I���%  301.32  8���&'D�&�&'��'8����  (����*  4.25) 
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�	�	�  4.24  ���������
%+��	��*�������� 
 

0�v�0>,	��� (��%/%) �	�;�	�D<,�	�  
���-�5�*�  

��& 
 

D"&��& 

 
�	�	01���� 

(8��) 

�8	
78�
�7
 
(8��) 

���7��� 
(�() 

���'�� 
(�() 

�I���% 
(�() 

D<,�	�
01���� 

(��	/9�:) 

��*
	h
�	�D<, 
(%) 

1. �HDH	� 14 
(20.00) 

56 
(80.00) 

46,900.00 2,733.33 < 5 > 15 19.32 4.86 100 

2.�����'*�:8	4�� 34 
(48.57) 

36 
(51.43) 

11,814.71 2,420.00 < 5 5-10 10.69 6.76 95.59 

3.�&'�:8	4��  
    

54 
(77.14) 

16 
(22.86) 

3,039.81 662.50 < 3 > 3 5.37 5.28 92.04 

4.�����'*I��

&	�����"� 

34 
(48.57) 

36 
(51.43) 

1,557.79 925.00 < 3 > 5 10.00 4.00 87.06 

5.'F���#+
'��	M 

6 
(8.57) 

64 
(91.43) 

5,991.67 1,500.00 < 3 > 3 7.83 4.50 96.67 

���"�: ������������ 
 

4.1.4  )�������>	��	�)�*�0
�c=-��C;5�,	����0������ 

�������D����8,�,���������,����"�?�
�	KF+������%	�� 1 �I���%  564.27  �� ����"�&'

D�&  ��%D���	�����I���%  7.22  8���&'�� ����"  E3�*���	������8E�4'������������"��4	�:*��&�  15  

��'�+�E?	�+  ������	,��'87�	��4*$"�  4,074.03  8���&'D�&�&'9�: 
 

4.1.5  �E�B	�;���������,�0������>	��	�)�*����0������ 

��������"=��#+�������  
8�&����������)�8��8�J�$��&�*M 7�)D����	'7	)7	�

��*7��D�  ��*�&'D�	�4 

1)  �J�$�/��'��	'7	)���	���,����"�?�
�	KF+  ���������)�8�J�$�����'*������

7��	7$�&*	4��  �J�$� ��  7"�*7�)����+
���:�����)8���	7��*,����"�?�
�	KF+  E3�*�������D����*

7,	���,����
��'$�������%*�&�*����)8���'* ��  7"�*7�)����+
���:����  7�)���$	���	��:����

$�������%*�����)�8�&�*9�:7��*�	�)%)������4*��'*  E3�*$���������	4���	�&�*	�4�)����$�D��,�,�������

7�)�"�?�����"��F#=�
���� 

2)  �J�$�/��'��	'7	)���	�F#=�
�"�?�
�	KF+��:�  �F#=�
�"�?�
�	KF+��:�����������

E�4'D����
:	%+g  
8�&� �"�?�
�	KF+"��F#=�
�:*  8���F�K�A��*��"��%
�	KF+  "�'�������*'��	7��*	�

�:*  "����"7�?*7�*���	��	 ��7�)7"�*
���:  7�)�$�,�,����&'D�&�:* 
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3)  �J�$�/��'��	'7	)���	�����8�F"7	)	���������$	�����  ��������&�	�$�&D����8

�����8�F"7�)7	)	�����	���,����"�?�
�	KF+�������$	������'*
:	%+g ���	'%&�*��7�)����H3*��4*���

����$	�����,:���8�F"7��*7�)����$	��������������	�F#=�
7��*�%�%
�	KF+�	����$����7	)	�� �����8 

�:7��	�F���4	�'	�'*��)8�	���,����"�?�
�	KF+  �
��'�$�,�,����"�?�
�	KF+�������D�����F#=�
�:*��"

"�����	������$	� 

4) �J�$�/��'��	'7	)���	,�,���7�)��%D��  ���������)�8�J�$�=�%7��*7�) ��

�����)8��  ����$�D����8,�,����&'D�&����  ��)�'8��8������8E�4'�����&*,��$���%D�����D����8������&���	�F	

���,�������:*�34	   �%�������D����	'�$�
:	%+g ���8������8E�4'�$��:*�34	7�)���8�����%	�)88����8��

�&�%�*�	�$���&'*���"����&����"  
 

�	�	�  4.25  ������7�**�	�	���,��� 
 

�*>���
 ����	��������� ����	�>,	� 
�	�0����
=*� (��%/��'%�)) 
    ���	�	7�**�	�I���% (�	/��'8����) 
    ���� "**�	�I���% (�"./��'8����) 
    ���*�	�I���% (��	/��'8����) 
    �&�7�**�	 (8��/��'8����) 
    
�4	����I���%  16.36 (D�&/��'8����) 

14/20.00 
3.07 
8.00 
4.64 

2,207.95 
(134.96 8./D�&) 

56/80.00 
4.57 
7.98 
3.13 

3,344.00 
(204.41 8./D�&) 

��
�8	����	�0����
=*���/�B
=     5,551.95  �	�/��������  (339.37 �./?�8) 
�	���3� (��%/��'%�)) 
    ���	�	7�**�	�I���% (�	/��'8����) 
    ���� "**�	�I���% (�"./��'8����) 
    ���*�	�I���% (��	/��'8����) 
    �&�7�**�	 (8��/��'8����) 
    
�4	����I���%  16.36 (D�&/��'8����) 

19/27.14 
3.21 
7.79 

1.38 
598.12 

(36.56 8./D�&) 

51/72.86 
3.49 
7.76 
1.14 

563.60 
(34.45 8./D�&) 

��
�8	����	���3���/�B
=     1,161.72  �	�/��������  (71.01�./?�8) 
�	�>�=�	��/�	 (��%/��'%�)) 
    ���	�	7�**�	�I���% (�	/��'8����) 
    ���� "**�	�I���% (�"./��'8����) 
    ���*�	�I���% (��	/��'8����) 
    �&�7�**�	 (8��/��'8����) 
    
�4	����I���%  16.36 (D�&/��'8����) 

24/34.29 
2.13 
7.42 
1.74 

532.84 
(32.57 8./D�&) 

48/68.57 
1.48 
5.10 
4.75 

429.83 
(26.27 8./D�&) 

��
�8	����	�>�=�	��/�	��/�B
=     962.67  �	�/��������  (58.84 �./?�8) 
�	���	>�=����3-.< (��%/��'%�)) 
    ���	�	7�**�	�I���% (�	/��'8����) 
    ���� "**�	�I���% (�"./��'8����) 
    ���*�	�I���% (��	/��'8����) 

70/100 
2.14 
5.91 
19.19 

46/65.71 
1.57 
6.30 
4.76 
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�	�	�  4.25  ������7�**�	�	���,���  (�&') 
 

�*>���
 ����	��������� ����	�>,	� 
    �&�7�**�	 (8��/��'8����) 
    
�4	����I���%  16.36 (D�&/��'8����) 

4,702.36 
(287.43 8./D�&) 

692.74 
(42.34 8./D�&) 

��
�8	����	���	>�=����3-.<��/�B
=     5,395.10  �	�/��������  (329.77 �./?�8) 
�	�D�8�;m� (��%/��'%�)) 
    ���	�	7�**�	�I���% (�	/��'8����) 
    ���� "**�	�I���% (�"./��'8����) 
    ���*�	�I���% (��	/��'8����) 
    �&�7�**�	 (8��/��'8����) 
    
�4	����I���%  16.36 (D�&/��'8����) 

41/58.57 
2.41 
6.66 
1.24 

385.61 

(23.57 8./D�&) 

29/41.43 
6.93 
6.66 
1.03 

500.82 
(30.61 8./D�&) 

��
�8	����	�D�8�;m���/�B
=    886.43  �	�/��������  (54.18 �./?�8) 
�	�0�c�0����� (��%/��'%�)) 
    ���	�	7�**�	�I���% (�	/��'8����) 
    ���� "**�	�I���% (�"./��'8����) 
    ���*�	�I���% (��	/��'8����) 
    �&�7�**�	 (8��/��'8����) 
    
�4	����I���%  16.36 (D�&/��'8����) 

- 
- 
- 
- 
- 

70/100 
11.63 
9.03 
1.13 

5,571.38 
(340.558./D�&) 

��
�8	����	�0�c�0�������/�B
=     5,571.38  �	�/��������  (340.55�./?�8) 
�	�����
��� (��%/��'%�)) 
    ���	�	7�**�	�I���% (�	/��'8����) 
    ���� "**�	�I���% (�"./��'8����) 
    ���*�	�I���% (��	/��'8����) 
    �&�7�**�	 (8��/��'8����) 
    
�4	����I���%  16.36 (D�&/��'8����) 

6/8.57 
3.00 
8.00 
1.00 

465.00 
(28.428./D�&) 

64/91.43 
11.09 
8.00 
1.10 

728.28 
(44.528./D�&) 

��
�8	����	�����
�����/�B
=     1,193.28  �	�/��������  (72.94�./?�8) 
�	����8� (��%/��'%�)) 
    ���	�	7�**�	�I���% (�	/��'8����) 
    ���� "**�	�I���% (�"./��'8����) 
    ���*�	�I���% (��	/��'8����) 
    �&�7�**�	 (8��/��'8����) 
    
�4	����I���%  16.36 (D�&/��'8����) 

- 
- 
- 
- 
- 

70/100 
11.59 
8.00 
1.16 

4,929.66 
(301.328./D�&) 

��
�8	����	����8���/�B
=     4,929.66  �	�/��������  (301.32 �./?�8) 
��
�8	����	���������  8,891.888  �	�  (543.51 �.?�8)           
��
�8	����	�>,	�         16,760.31  �	�  (1,024.47 �.?�8)           

��
��/�B
= 25,652.19  �./�������� 
        01����   1,567.98  �./?�8 

���"�: ������������ 
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4.2  �	��*0��	�B5�
�	��	�)�*� 

���������)$+�"������,����"�?�
�	KF+������%	�� 1 �'*��������"����
:	%+g ���	�	  

70  ��%  �	�(����
�)��:�  2548  ��)�'8���%,����������)$+  3  �&�	  ���%��	��' �&�	7�� ���	

���'K�8�%H3*,����������)$+�"������,���  �&�	����'*���	���'K�8�%��������)���K�=�
���,���

�'*�������J���%���,���  7�)�&�	�����" ���	���'K�8�%,����������)$+��	�F	7�),��'87�	���

���,���  E3�*"���%�)�'�%���*�&'D�	�4 

������������)$+���"��"
�	K+�)$�&�*,�,�����8�J���%���,���    �%�����'":��'*

�������  ���	�	  70  ��%  7�)��)"�#����"������,��� �%�����K�  OLS  (Ordinary Least 

Squares) D����)"�#����"������,����	$��%�:�788 �%������7��'���)  D��7�&  �J���%���,���

�&�* M $��%���  ��&	  �"�?�
�	KF+  �FN%  �����"�  �����	  7�**�	  	4��"�	���4'�
��*  7�)�F	  7���
8�&�

�J���%���,���8�*���"��$��"
�	K+E3�*��	7�)��	  ����$�"��J�$�  Multicollinearity  ��&	  �)$�&�*�����	

��8�"�?�
�	KF+  �3*������	��'*���'��J���%���,������"��J�$���*��&��"��
�%*  1  ���  �	����F�
8�&�

�"������,�������$"�)�"����F����$��8��'":��	���
3������4*	�4��'�"����'*  lnY  =  f (X1,X2,X3)  

 �%����J���%�����	 (X1) 7�)�F	 (X3) �)'%:&�	�:��'* Log-Linear  �&�	7�**�	 (X2) '%:&�	�:��'* 

Log-Output  ��8  Quadratic  �'*7�**�	  E3�*,������)"�#����"���  7��*D����*	�4 
 

       lnY  =  7.609+0.06132X1+0.001386X2-0.00000106132 X22+0.0009311X3 
                             (0.000)***       (0.061)*               (0.083)*                  (0.086)* 
 

R2  =  0.803                 F-Value  =  66.274 
                                                                (0.000)*** 

 �%���         �&��	�*��?8  $"�%H3*  �&�  P-Value �'*��"��)���K�A 

                   *   $"�%H3*  "�	�%��������*�H�������)��8  0.10    

                          ***   $"�%H3*  "�	�%��������*�H�������)��8  0.01 

                Y       ��'       ,�,����"�?�
�	KF+������%	�� 1    (�� ����") 

 X1     ��'       �����	  (D�&) 

 X2     ��'       7�**�	  (��	-�	) 

 X3     ��'       �F	  ($	&�%�F	)1 

                                                                 

1
 ����*  4.27  $	��  71 
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����"������,����"�?�
�	KF+�������*��	  �"��'���'8	�%��������*�H����'*�&���"��)���K�A

�'*�J���%���,���7�&�)�	�� �%
����#�����&�  P-Value  
8�&��&���"��)���K�A�'*�����	 (X1) "�

�����'*$"�%�'*�&���"��)���K�A���	8��  E3�*���	���7��*���"��"
�	K+���*8���)$�&�*,�,�����8�����	  

 �%"�	�%����������)��8  0.01  �&�	�&���"��)���K�A�'*7�**�	  (X2)  ���	�:�788�'*�"��������*�'*  

(Quadratic Function) E3�*�����'*$"�%�'*�&���"��)���K�A7��*���"��"
�	K+���D"&�*����)$�&�*,�,���

��87�**�	   �%"�	�%����������)��8  0.10  7�)�&���"��)���K�A�'*�F	 (X3) "������'*$"�%�'*�&�

��"��)���K�A���	8��  ���	���7��*���"��"
�	K+���*8���)$�&�*,�,�����8�F	 �%"�	�%����������)��8  

0.10  

�"��'
����#����  F-Value  
8�&����7����4*$"������"D���	�"������,���  ��"��H

'K�8�%��������%	7��*�'*,�,����"�?�
�	KF+����D��'%&�*"�	�%��������*�H�������)��8  0.01  7�)�"��'


����#��&�  Coefficient of Determination (R2)  "��&���&���8  0.083  7��*�&�  ���	�	�����	  ���"�#

������7�**�	7�)�������F	  ��"��H'K�8�%��������%	7��*�'*,�,����"�?�
�	KF+������4*$"� D����'%

�)  80.30 

,����
3������"��"
�	K+�)$�&�*,�,���7�)�J���%���,�����"$���,��'87�	�&'

�	�����,���  (Returns to Scale)  E3�*���	���'K�8�%H3*���"�#,�,�����������%	7��*D���"���

�%�%�	�����,���  
8�&�H��$���J���%���,����F��	���
��"�34	  3.185  ��&�  �)'%:&�	�)%)

,��'87�	�&'�	���*���  (Constant Returns to Scale)  7�&$���
��"�������J���%���,����F��	������

��&�  3.185  ��&�  �)'%:&�	�)%),��'87�	�&'�	���
��"�34	  (Increasing Returns to Scale)   7�)

$���
��"�������J���%���,����F��	���:*��&�  3.185  ��&�  �)'%:&�	�)%),��'87�	�&'�	�����*  

(Decreasing Returns to Scale)  (=��,	�� �) 

 

4.3  �	��*0��	�B5����*�C*2	-�	�D<,�E>>���	�)�*� 

��������)���K�=�
�������J���%���,���  ��"��H7%�
����#�D�����	  2  �&�	  ��' 

��)���K�=�
��*���	�� (Technical  Efficiency) 7�)��)���K�=�
��*�
������  (Economic  

Efficiency)   E3�*��������)���K�=�
�������J���%���,�������$����8�&� �������,:�,����"�?�
�	KF+����

�	
�4	������������
3���"��������J���%����	�)��8����$"�)�"7�)D�����D��:*�F�$��'D"& 

4.3.1  ����*�C*2	-�	�0���*� 

��������)���K�=�
��*���	��  (Technical  Efficiency) 
����#����,�,����
��"  

(Marginal  Product: MP)  E3�*$"�%H3*  ��������%	7��*�'*,�,���'�	�	��'*����������J���%���,���
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�	��$	3�*�
��"�34	  1  $	&�%   �%���$	��$��J���%���,����	��'��	 M �*���  ��������%	7��*�'*�J���%

���,�����*��&���)����$�,�,����
��"�34	$��'���*  �
��'������	7	���*�	��������	������J���%���,���

7�&�)�	��  E3�*��K�������	�#,�,����
��" (MP)  7��*D����*	�4    
 

����"������,���         
 

       lnY  =  7.609+0.06132X1+0.001386X2-0.00000106132 X22+0.0009311X3 
 

$��&�,�,����
��"  (MP)  �'*�J���%���,���7�&�)�	��  D����*	�4 

MPX1 =    ∂lnY/∂X1 

MPX2 =   ∂lnY/∂X2 

MPX3 = ∂lnY/∂X3 
 

�&�,�,����
��" (MP) �)���	���7��*�$��$?	�&��"��'"��������J���%�	��$	3�*�����%	7��*D� 

1 $	&�%  �%�$��J���%�	��'��	 M  �*���7���  ,�,����)�����%	7��*D�'%&�*D� E3�*�������J���%���,���

�	�)��8���������)���K�=�
��*���	�� (Technical  Efficiency)  �:*����F���'  �)��'*"��������J���%���

,����	H3*�)��8���'�����&�	�)$�&�*,�,����
��"�'*�J���%�&'�����J���%	�4	 M (MPXi/PXi) 	�4	"��&�

��&���	�	�F��J���%������  $��'����)��8   
 

 

(MPX1/PX1)  =  (MPX2/PX2)  =  (MPX3/PX3)    

���������)$+��)���K�=�
��*���	���'*�������J���%���,��� 
8�&�,�,����
��"  (MP)  

�'*�J���%���,���7�&�)�	���	�"������,����"�?�
�	KF+����  "��&����	8����4*$"�  	��	��'  $�����

�J���%���,���7�&�)�	���
��"�34	  1  $	&�%  �)����$�,�,����"�?�
�	KF+�����
��"�34	��&���8�&�,�,���

�
��"  (MP)  �'*�J���%�	��	�4	 M   ��*	�4 
 

�	��*0��	�B5�8	)�)�*�0-*�
  (Marginal Product: MP)  ����E>>����8��<�*= 

1)  �	��*0��	�B5�8	)�)�*�0-*�
����E>>�����=*� (X1): MPX1 

1.1) ��h��	���	��h�8	  MPX1  
 

       lnY  =  7.609+0.06132X1+0.001386X2-0.00000106132 X22+0.0009311X3 

MPX1  =   (1/∂lnY)(Y/∂X1)   =  (0.06132)                 

MPX1  =   ∂Y/∂X1  =  (0.06132)(Y)                 
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���,�,����I���%  (Y)  ��&���8  9,337.98  �� ����"  
8�&�,�,����
��"��������������	  

(MPX1)  "��&���&���8  572.60  �� ����"�&'D�&  7��*�&�H���$�������7�**�	7�)�F	�*���  7���"�������

�����	�
��"�34	  1  D�&  �)����$�D��,�,����"�?�
�	KF+�����
��"�34	  572.60  �� ����"�&'D�&  7�)�"��'

����%8���%8'�����&�	�)$�&�*,�,����
��"��������������	�&'�&���&������	 (MPX1/PX1) "��&���&���8  

3.90  �� ����"�&'8��  $"�%H3* H��"������������	�
��"�34	�)����$�,�,����"�?�
�	KF+�����
��"�34	  3.90  

�� ����"�&'�&���&������	 1 8��   �%���7�**�	7�)�F	�*���  (����*  4.26)  
 

1.2)  ��h���	B�=DB,    Y1 = 100  ���   Y2 = 200  �*4����
   

���	�#  MPX1 D����*	�4 

  Y1  =  100   �� ����" 

 MPX1  =    (0.06132)(100)   

                    =   6.132  �� ����"�&'D�& 

 Y2  =   200  �� ����" 

         MPX1   =    (0.06132)(200)    

               =    12.264  �� ����"�&'D�&  (�:����  4.1) 

�)�$?	�&�  �&�,�,����
��"��������������	  (MPX1)  �)�����%	7��*��"���"�#,�,��� 

(Y) �
��)I)	�4	H��$���&�  Y  �����%	7��*D�  �&�  MPX1  �?�)�
��"�34	$��'���*��"���

�����%	7��*�'*  Y   
 

 
 

�3����  4.1  ���"��"
�	K+�)$�&�*  MPX1  7�)  Y 

�	��'*����&�  MPX1  7�) �&� Y   ���	�&����D������������&��I���%  ,����D���3*���	���

��)"�#����'*���������4*  70  ��%  7�&�&�  MPX1  �'*�������7�&�)��%'��"��&��&�*''�D�  

�3*D�����	�#�&�  MPX1  �'*��������%��� 1  ���	���'%&�*��*�&'D�	�4 

12.264 

X1 

(Y  =  200)   

MPX1  =  0.06132Y 

(Y  =  100)   

MPX1 

6.132 
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1.3)  ��#�������	�#�&�  MPX1  �'*���������%��� 1 

���������%���  1  "������������	  (X1)  ��&���8  25  D�&  ,�,����"�?�
�	KF+����

��4*$"�  (Y)   ��&���8  17,719  �� ����"  $�  MPX1  �'*���������%���  1  D����*	�4 

���           MPX1   =   ∂Y/∂X1  =  (0.06132)(Y) 

      =   (0.06132)(17,719)  

         =   1,086.53  �� ����"�&'D�&  (�:����  4.2) 

�&�  MPX1 �'*���������%���  1  ���D��  $"�%H3*  H�����������%	�4���7�**�	7�)����F	

�*���  7�����������	�
��"�34	  1  D�&  �)����$�D��,�,����"�?�
�	KF+�����
��"�34	  1,086.53  �� ����"�&'D�& 

 

 
 

�3����  4.2  ���"��"
�	K+�)$�&�*  MPX1  7�)  Y  (���������%��� 1) 
 

2)  �	��*0��	�B5�8	)�)�*�0-*�
����E>>������	� (X2): MPX2 

2.1)  ��h��	���	��h�8	  MPX2  

       lnY  =  7.609+0.06132X1+0.001386X2-0.00000106132 X22+0.0009311X3 

MPX2  =   (1/∂lnY)(Y/∂X2)   =  (0.001386-0.000002122X2) 

MPX2  =   ∂Y/∂X2  =  (0.001386-0.000002122X2)(Y) 

       X2   ��'  ������7�**�	�I���%  ��&���8  534.56  ��	-�	 

���,�,����I���% (Y)  ��&���8  9,337.98  �� ����"  
8�&�,�,����
��"���������7�**�	  

(MPX2)  "��&���&���8  2.35  �� ����"�&'��	-�	  	��	��'  H���$����	�	�����	7�)�������F	�*���  7���"�

������7�**�	�
��"�34	  1  ��	-�	�&'D�&  �)����$�D��,�,����"�?�
�	KF+�����
��"�34	  2.35  �� ����"�&'

D�&7�)�"��'����%8���%8'�����&�	�)$�&�*,�,����
��"���������7�**�	�&'����7�**�	  (MPX2/PX2)  

"��&���&���8  0.02  �� ����"�&'8��  $"�%H3*  H��"�������7�**�	�
��"�34	�)����$�,�,����"�?�
�	KF+

�����
��"�34	  0.02  �� ����"�&'�&�7�**�	  1  8��   �%���7�**�	7�)�F	�*���  (����*  4.26)  

(Y  =  17,719)    

MPX1  =  0.06132Y 
MPX1 

X1 

1,086.53 
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2.2)  ��h���	B�=DB,  Y1 = 100  ��� Y2 = 200  �*4����
   

���	�#�&� MPX2 D����*	�4 

�"��'   X2  ��' ������7�**�	�I���%  ��&���8  534.56  ��	-�	 

 Y1  =  100   �� ����" 

MPX2   =    [(0.001386)-(0.000002122)(534.56)](100)  

       =    (0.1386-0.1134)   

            =    0.025  �� ����"�&'��	-�	    

 Y2  =   200  �� ����" 

 MPX2   =    [(0.001386)-(0.000002122)(534.56)](200)  

             =    (0.2772-0.2269)   

             =     0.050  �� ����"�&'��	-�	  (�:����  4.3) 

�&�,�,����
��"���������7�**�	  (MPX2)  �)�����%	7��*��"���"�#,�,���  (Y) 

7�)��������%	7��*�'*  Y  �
��)I)	�4	H��$���&�  Y  �
��"�34	$��'���*  �&�  MPX2  �?�)�
��"�34	

$��'���*��"��������%	7��*�'*  Y  ���%   
 

2.3)  ��h���	B�=DB,  MPX2 =  0   

    DB,  Y1  = 9,337.98, Y2  =  100, Y3  =   200  �*4����
 

����"������,���  
8�&��&�  MPX2  "� '������	D����4*8��  ���	�8  7�)"��&����	
:	%+�?D�� 

H�����$	�      MPX2  =   0  =  (0.001386-0.000002122X2)(Y) 

 Y1  =  9,337.98   �� ����" 

                0   =    (0.001386-0.000002122X2)(9,337.98) 

                    X2  =     [(0.001386)(9,337.98)]/[(0.000002122)(9,337.98)] 

                          =    (12.94244028)/(0.019815194)  =  653.16  ��	-�	   

 Y2 =  100   �� ����" 

                    0   =    (0.001386-0.000002122X2)(100) 

                    X2 =     [(0.001386)(100)]/[(0.000002122)(100)] 

                         =    (0.1386)/(0.0002122)  =  653.16  ��	-�	 

 Y3 =  200   �� ����" 

                   0  =    (0.001386-0.0000021222)(200) 



 

 

66 

                   X2 =     [(0.001386)(200)]/[(0.000002122)(200)] 

                         =     (0.2772)/(0.0004)  =  653.16  ��	-�	   (�:����  4.3) 

�)�$?	�&��)��8������7�**�	��&���8  653.16  ��	-�	  �)����$��&�  MPX2  ���	
:	%+  ���

������7�**�	�I���% 	�'%��&�  653.16  ��	-�	  �&�  MPX2  ���	8��  7�)���������7�**�	"����&�  

653.16  ��	-�	  �&�  MPX2  ���	�8    E3�*���������4*$"����7�**�	�I���%  ��&���8  534.56  ��	-

�	  �
��)I)	�4	���������"��H�
��"������7�**�	D��'��   �%��������	7�)�F	�*���     
 

 
 

�3����  4.3  ���"��"
�	K+�)$�&�*  MPX2  7�)  Y    

        
7�)�	��'*����&� MPX2  7�) �&� Y   ���	�&����D������������&��I���%  ,����D���3*���	���

��)"�#����'*���������4*  70  ��%  7�&�&�  MPX2  �'*�������7�&�)��%'��"��&��&�*''�D�  
�3*D�����	�#�&�  MPX2  �'*��������%��� 1  ���	���'%&�*��*�&'D�	�4 

 

2.4)  ��h��	���	��h�8	 MPX2  0�v��	��;���  (���������%��� 1) 

���������%���  1  "�������7�**�	  (X2)  ��&���8  735  ��	-�	  ,�,����"�?�
�	KF+����

��4*$"�  (Y)  ��&���8  17,719  �� ����"  $�  MPX2  �'*���������%���  1  D����*	�4 

              MPX2  =   ∂Y/∂X2  =  (0.001386-0.000002122X2)(Y) 

              MPX2   =   [(0.001386)-(0.000002122)(735)](17,719)  

0.0250 

               X2 = 534.56 

(Y =  9,337.98 )    

MPX2 =  0.001386Y P 0.000002122YX2  

(Y  =  200)    

653.16 
X2 

0.1386 

0.2772 

(Y  =  100)    
0.0500 

2.3500 

12.9424 

MPX2 
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 =   (24.559-27.636)   

    =    -3.077  �� ����"�&'��	-�	  (�:����  4.4) 
 

��h�      MPX2  =   0  =  (0.001386-0.000002122X2)(Y) 

���     Y  =  17,719   �� ����" 

                    0   =  (0.001386-0.000002122X2)(Y) 

X2  =   [(0.001386)(17,719)]/[(0.000002122)(17,719)] 

     =   (24.559)/(0.0038)   

   =    653.16  ��	-�	  (�:����  4.4) 
 

 
 

�3����  4.4  ���"��"
�	K+�)$�&�*  MPX2  7�)  Y  (���������%��� 1)    
 

����)��8������7�**�	�'*���������%���  1  "����&��)��8���  MPX2 = 0  �3*����$��&�  

MPX2  "��&����	�8  ���������%	�4�����������7�**�	�* �%��������	7�)�F	�*��� 
 

 

3)  �	��*0��	�B5�8	)�)�*�0-*�
����E>>���;� (X3): MPX3 

3.1)  ��h��	���	��h�8	  MPX3  
       lnY  =  7.609+0.06132X1+0.001386X2-0.00000106132 X22+0.0009311X3 

MPX3  =   (1/∂lnY)(Y/∂X3)   =  (0.0009311)                 

MPX3  =   ∂Y/∂X3  =   (0.0009311)(Y) 

 ���,�,����I���% (Y)  ��&���8  9,337.98  �� ����"  
8�&�,�,����
��"����������F	  

(MPX3)  "��&���&���8  8.69  �� ����"�&'$	&�%�F	 H��$���$����	�	�����	7�)������7�**�	  7���"�

�������F	�
��"�34	  1  $	&�%�F	�&'D�&  �)����$�D��,�,����"�?�
�	KF+�����
��"�34	  8.69  �� ����"�&'D�&  

653.16 X2,1= 735   
X2 

-3.077 

24.559 

(Y  =  17,719)    

MPX2 MPX2 =  0.001386Y P 0.000002122YX2  
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7�)'�����&�	�'*,�,����
��"����������F	�&'�����F	  (MPX3/PX3)  "��&���&���8 25.56 �� ����"

�&'8�� $"�%H3* H��"��������F	�
��"�34	�)����$�,�,����"�?�
�	KF+�����
��"�34	  25.56  �� ����"�&'�&�

�������F	 1 8��   �%��������	7�)7�**�	�*���  (����*  4.26)  
 

 3.2)  ��h���	B�=DB,  Y1 = 100  ��� Y2 = 200  �*4����
   

���	�#�&�   MPX3  D����*	�4 

 Y1  =  100   �� ����" 

             MPX3  =   (0.0009311)(100)   

    =    0.09311  �� ����"�&'$	&�%�F	  

 Y2 =   200  �� ����" 

                MPX3  =   (0.0009311)(200)   

   =    0.18622  �� ����"�&'$	&�%�F	  (�:����  4.5) 

�)�$?	�&�  �&�,�,����
��"����������F	  (MPX3)  �)�����%	7��*��"���"�#,�,���  

(Y)  �
��)I)	�4	H��$�����$	��$�  Y  �
��"�34	$��'���*  �&�  MPX3  �?�)�
��"�34	$��'���*��"���

�����%	7��*�'*  Y 
 

 
 

�3����  4.5  ���"��"
�	K+�)$�&�*  MPX3  7�)  Y 

 

�	��'*����&� MPX3  7�) �&� Y   ���	�&����D������������&��I���%  ,����D���3*���	���

��)"�#����'*���������4*  70  ��%  7�&�&�  MPX3  �'*�������7�&�)��%'��"��&��&�*''�D�  

�3*D�����	�#�&�  MPX3  �'*��������%��� 1  ���	���'%&�*��*�&'D�	�4 
 

 

 

 

 

0.18622 

X3 

(Y  =  100)    

(Y  =  200)    

MPX3  =  0.0009311Y 

0.09311 

MPX3 
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3.3)  ��h��	���	��h�8	  MPX3    0�v��	��;���  (���������%��� 1) 

���������%���  1  "��������F	  (X3)  ��&���8  9.5 $	&�%�F	  ,�,����"�?�
�	KF+����

��4*$"�  (Y)  ��&���8  17,719  �� ����"  $�  MPX3 �'*���������%���  1  D����*	�4 

              MPX3   =   ∂Y/∂X3    =    (0.0009311)(Y) 

 =   (0.0009311)(17,719)   

     =   16.50   �� ����"�&'$	&�%�F	  (�:����  4.6) 
 

 
 

�3����  4.6  ���"��"
�	K+�)$�&�*  MPX3   7�)  Y  (���������%��� 1) 
 

�&�  MPX3 �'*���������%���  1  ���D��  $"�%H3*  H�����������%	�4��������	7�)����

7�**�	�*���  7�������F	�
��"�34	  1  $	&�%�F	  �)����$�D��,�,����"�?�
�	KF+�����
��"�34	  16.50  

�� ����"�&'$	&�%�F	 

����)��8���"���)���K�=�
��*���	���:*�F�'%:&���'�����&�	�'*,�,����
��"����������J���%

�&'�����J���%7�&�)�	����&���8  (MPX1/PX1)  =  (MPX2/PX2) = (MPX3/PX3)  ������
3���


8�&�  (MPX3/PX3) > (MPX1/PX1) > (MPX2/PX2)   ����)�����	�&��)�
��"$��'���������J���%

�	����	�4	  �)��'*
����#�����&� MP �'*�J���%	�4	���%8��8�J���%'��	 M �	�"��� E3�*�)�$?	D���&�"����

���7�**�	�	���,������	����&�	����:*��&������������	7�)�F	  $�����$	��$������J���%7�&�)�	��"�

�&��*�����&���	7�)"�*8��)"�#������ �����������7�**�	�*�
��'����$��
��",�,����
��"���������

7�**�	  (MPX2) �
��"�34	 


����#����  MPX2 = [0.001386-0.000002122X2](Y)  �)�$?	�&� MPX2  �'*��F&"

���'%&�*"��&�D"&�*���'�����	8��$��'�8�?D�� �34	'%:&��8�)��8������7�**�	�I���%�'*��F&"���'%&�* (X2)  

�
��)I)	�4	����)��8  Y ��&���8,�,����I���%�'*��F&"���'%&�*  �����������7�**�	�$�������&�  653.16  

��	-�	  �3*�)����$�  MPX2  ���	8��   7�&$�����  7�**�	"����&�  653.16  ��	-�	  �)����$�  

16.50 

X3 

(Y  =  17,719)    

MPX3  =  0.0009311Y MPX3 
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MPX2  ���	�8 7�)�)��8������7�**�	  (X2)  �34	'%:&��8��������%	7��*�'*���"�#,�,����"�?�


�	KF+�����I���%�'*��F&"���'%&�*  (Y)  ���% 

���  MPX1  =  (0.06132)(Y)   7�)  MPX3  = (0.0009311)(Y)  �)�$?	�&�  MPX1  

7�)  MPX3  �'*��F&"���'%&�*  �)�����%	7��*��"���"�#,�,����"�?�
�	KF+�����I���%�'*��F&"

���'%&�*  (Y) �
��)I)	�4	H��$�����$	��$�  Y  "��&���&���	  �?�)��'*�
��"�����������	  (X1)  7�)�F	  

(X3) E3�*�)����$��&�  MPX1  7�)  MPX3  �
��"�34	 
 
�	�	�  4.26  ,�,����
��"����������J���%���,���  
 

�E>>�� 
�	�)�*� 

�	�	�E>>���	�)�*� 
(Pxi) 

)�)�*�0-*�
2 
(MPxi) 

)�)�*�0-*�
�8��	�	�E>>��3 
(MPxi/Pxi) 

�����	  (X1) 

7�**�	 (X2)   

�F	  (X3) 

146.67 (8./D�&/9�:) 

155.00 (8./��	-�	)4 

0.34 (8./$	&�%�F	)5  

572.60 (��./D�&) 

    2.35 (��./��	-�	) 

    8.69 (��./$	&�%�F	) 

3.90 (��./8.) 

0.02 (��./8.) 

25.56 (��./8.) 

���"�: ���������	�#   �%����&��I���%�'*,�,���  (Y)  7�)�&��I���%�'*������7�**�	 (X2)            

 

 

 

 

 

 

 

 

 

 

 

                                                                 

2
  ����*  4.28  $	��  72 

3
  ����*  4.29  $	��  73 

4
  ������'�����&�7�**�	��4	����  �(  2548  �	�����*$���	��
��K��"��� 

5
  ����*  4.30  $	��  74 
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�	�	�  4.27  ������	�#�������������F	 
 

�	���	��h�	���=�	�D<,�;� 
�	��'*����������F	�'*�������  ��)�'8���%�����������'*����'F���#+$��%�	��  D��7�&  �HDH  �����'*�:8

	4��  �&'�:8	4��   �����'*I��
&	�����"�  7�)'F���#+'��	 M �3*D������*$	&�%����������F	�	�:��'*  Composite Index  �
��'
	��D�����	������	�#�"������,����&'D�   �%"���4	�'	�������*   Composite Index  �'*�F	  ��*�&'D�	�4 
	�%�" K1    ��'  ���"�#�������HDH	�  (��	-��	) 

                   K2    ��'  ���"�#�����������'*�:8	4��  (��	-�����'*) 

                K3    ��'  ���"�#�������&'�:8	4��  (��	-�&') 

 K4    ��'  ���"�#�����������'*I��
&	�����"�  (��	-�����'*) 

                   K5    ��'  ���"�#������'F���#+'��	 M   (��	-��4	) 

1.  $��&����"�#�������F	  (K1 K2 K3 K4 K5)  �%����:#���	�	�����'*����$��'�����'*"�'7�&�)�	��  ���%

���	�	��	�����������'*���������'*"�'	�4	  �	  1  9�:���,���  ��*���'%&�*�'*���������%���  1 
               K1  =   1  ��	       ×     5  ��	  =         5  ��	-��	 

             K2  =   1  �����'*   ×   15  ��	  = 15  ��	-�����'* 

              K3 =    2  �&'       ×   15  ��	  =  30  ��	-�&' 

              K4 =    0  �����'*   ×     0  ��	  =         0  ��	-�����'* 

            K5 =    0  ��4	       ×     0  ��	    =         0  ��	-��4	 

2.  ������H&�*	4��$	�����"�#�������F	7�&�)�	��   �%����$�	4��$	����"����&�	������*�	  (D��������
��)�"�	����&�	������*�	�'*�����'*����7�&�)�	���'*�������) ��*	�4 
�$�	4��$	��    K1   =   40% 

 K2   =   20% 

 K3   =   15%  

 K4   =   20% 

 K5   =    5% 

�$� K ��'  Basket of Capital: BC  $�D������&��I���%788H&�*	4��$	���'*�F	  (Weighted Average of Capital)   
�)D��      K   =   0.4K1 + 0.2K2 + 0.15K3+ 0.2K4+ 0.05K5                                    

��#����'%&�*�'*���������%���  1  �)D���&��I���%788H&�*	4��$	���'*�F	  (K)  ��*	�4 
                   K   =   0.4K1 + 0.2K2 + 0.15K3+ 0.2K4+ 0.05K5 

 K   =   0.4(5) + 0.2(15) + 0.15(30) + 0.2(0) + 0.05(0) 
 K   =    (2+3+4.5+0+0)     K   =     9.5 

3.  $�  Composite Index  of Capital  (CIC)   �%������$	��$��&�  K  �'*���������%���  1  (9.5)  ���	
��	  ��'��&���8  100  �
��'������	��	����%8���%8�	������	�#$�  CIC  �'*���������%'��	�&'D� 

4.  ��� CIC �'*�������7�&�)��%������	�#D��  ���	��'":��'*�������F	�	�����)"�#����"������,��� 
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�	�	�  4.28  ������	�#�&�,�,����
��"  (MP) 
 

�	���	��h�8	)�)�*�0-*�
  (Marginal  Product: MP) 

����"���  lnY  =  7.609+0.06132X1+0.001386X2-0.000001061X2
2+0.0009311X3 

               Y  ��',�,����"�?�
�	KF+����  ��&���8  9,337.98  �� ����" 
 

B	�8	   MPX1   ?=,=����/   

                      ∂lnY/∂X1   =   0.06132       7�)    ∂lnY   =   1/Y(∂Y) 

                1/Y(∂Y)/∂X1   =    0.06132 

 ∂Y/∂ \X1   =    (0.6132)(Y) 

                        MPX1 = (0.6132)(9337.98) 

                              =   572.60  �� ����"�&'D�& 
B	�8	   MPX2   ?=,=����/   

                      ∂lnY/∂X2   =   0.001386-0.000002122X2      7�)    ∂lnY   =   1/Y(∂Y) 

                1/Y(∂Y)/∂X2   =    0.001386-0.000002122X2       

                                 X2   ��'������7�**�	�I���%  ��&���8  534.56  ��	-�	 

   ∂Y/∂X2   =    (0.001386-0.000002122X2)(Y) 

 MPX2 = [(0.001386)-(0.000002122)(534.56)](9337.98) 

                 =    12.94-10.59 
                            =     2.35  �� ����"�&'��	-�	 
B	�8	   MPX3   ?=,=����/   

                      ∂lnY/∂X3   =   0.0009311       7�)    ∂lnY   =   1/Y(∂Y) 

                1/Y(∂Y)/∂X3   =    0.0009311 

 ∂Y/∂X3   =    (0.0009311)(Y) 

 MPX3 = (0.0009311)(9337.98) 

 =    8.69  �� ����"�&'$	&�%�F	 
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�	�	� 4.29  ������	�#�&�  (MPXi/PXi) 
 

�	���	��h�8	  (MPXi/PXi) 

                     MPX1   =      572.60  �� ����"�&'D�& 

                      MPX2    =       2.35  �� ����"�&'��	-�	 

                      MPX3   =      8.69  �� ����"�&'$	&�%�F	 

                       PX1  ��'�&���&������	   

                                 =     146.67  8���&'D�&�&'9�: 
                       PX2 ��'�&�7�**�	   

                                 =     155.00  8���&'��	-�	 
                      PX3 ��'�&��������F	 

                                  =     0.34  8���&'$	&�%�F	                                                                                 
          MPX1/PX1       =     (572.60)/(146.67) 

                                  =     3.90  �� ����"�&'8�� 
        MPX2/PX2      =     (2.35)/(155) 

                              =     0.02  �� ����"�&'8�� 
          MPX3/PX3      =     (8.69)/(0.34) 

                                 =     25.56  �� ����"�&'8�� 
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�	�	� 4.30  ������	�#��	�F	�������F	   
 

�	���	��h�,��;��	�D<,�;�  (Cost of Capital) 
�$�  ACC  (Averagr Cost of Capital)  ��'  ��	�F	�I���%�&'  1  BC (Basket of Capital)   
E3�*"���K����$���*	�4 
	�%�"               CK1    ��'  �&�����'"�����'*�HDH	�   (8��/��	) 

                       CK2    ��'   �&�����'"�����'*�����'*�:8	4��  (8��/��	)             

                       CK3    ��'   �&�����'"�����'*�&'�:8	4��  (8��/��	)                                                     

                       CK4    ��'  �&�����'"�����'*�����'*I��
&	  (8��/��	) 

                       CK5    ��'  �&�����'"�����'*'F���#+'��	  (8��/��	) 

1.  ������	�#$��&�����'"���� 
                  CK1      =      �����HDH	�  (8��) / '�%F������*�	  (��	) 

                             =     46,900 (8��) / 7,052 (��	)     =    6.65  8��/��	 
               CK2      =      ���������'*�:8	4��  (8��) /  '�%F������*�	  (��	) 

                            =     11,814 (8��) / 4,976 (��	)    =    2.37  8��/��	 
               CK3      =      �����&'�:8	4��  (8��) /  '�%F������*�	  (��	) 

                             =     3,040 (8��) / 1,920 (��	)      =    1.58  8��/��	 
              CK4      =      ���������'*I��
&	�����"�  (8��) /  '�%F������*�	  (��	) 

                            =     1,558 (8��) / 3,650 (��	)     =    0.43  8��/��	 
               CK5      =      ����'F���#+'��	  (8��) /  '�%F������*�	  (��	) 

                            =     5,995 (8��) / 2,859 (��	)       =    2.10  8��/��	 
 2.  ���	�#$��&�  ACC  D������&��I���%788H&�*	4��$	���'*�&�����'"���������'*�����	���&�* M �&'��	   
�)D��     
               ACC     =     0.4CK1+0.2CK2+0.15CK3+ 0.2CK4+0.05CK5 

                              =     0.4(6.65)+0.2(2.37)+0.15(1.58) +0.2(0.43)+0.05(2.10) 
                             =     (2.66+0.47+0.24+0.09+0.11) 
                           =      3.57  8��  	����'  ��	�F	�������F	�&'  1  BC (Basket of Capital) 
3.  ��'*������	�#$���	�F	�I���%�&'  1  CIC    E3�*���	�#D��  ��*	�4 
                         1   CIC    �)"���	�F	  ��&���8  ACC/(100/9.5)        
              ACC/(100/9.5)       =    3.57/10.53  �F	 
                                             =     0.34  8��/$	&�%�F	    
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4.3.2  ����*�C*2	-�	�0���X�*> 

��������)���K�=�
��*�
������  (Economic  Efficiency)  �)
����#�H3*�)��8������

�J���%���,�������$"�)�" ��' �)��'*����J���%���,���	�4	 M �	H3*�)��8���":��&�,�,����
��"  (Value 

of Marginal  Product: VMP)  "��&���&���8�����'*�J���%	�4	  (PXi) =�%�����'�""������&�  ����

,�,���7�)�����J���%���,������	����7�&*��	�"8:�#+  7�)$��'�����&�	�'*":��&�,�,����
��"�&'

�����J���%���,���  (VMPXi/PXi)  "����&�$��'	�'%��&�  1  7�������
��"$��'���������J���%�	��

	�4	 M  ��"�����8   �%"��*��'	D��)��8�������J���%���,�������$����D��:*�F�  ��*	�4 

1.  H�� VMPXi > PXi  $��'  (VMPXi/PXi)  >  1  7��*�&��������J���%���,���  Xi  ����

��&��)��8�������J���%���D�����D��:*�F�  ��*	�4	  ����
��"�������J���%���,���	�4	 

2.  H��  VMPXi  < PXi  $��'   (VMPXi/PXi)  <  1  7��*�&��������J���%���,���  Xi  

�:*��&��)��8�������J���%���D�����D��:*�F�  ��*	�4	  ������������J���%���,���	�4	 

3.  H��  VMPXi  =  PXi  $��'   (VMPXi/PXi)  = 1  7��*�&��������J���%���,���  Xi  

H3*�)��8����$"�)�"  ��'  �	���	��)���K�=�
��*�
������D�����D��:*�F�7��� 

�"��'
����#��*��'	D����,�������)��8����$����D��:*�F�  ��'  MR = MC  �)��"��H7��*�$�

�$?	�&����	�*��'	D����%���	��8   VMPXi =   PXi  ��*	�4 

                VMPXi     =   PXi   

                                (Py)(MPXi)   =   PXi 

(�	��'*���'%:&�	�=�
����,�,���7887�&*��	�"8:�#+  ,:�,�����'*��%  #  ��������  (Price 

Taker)  ��*	�4	   Py  =  MR)     

                             (MR)( MPXi)   =   PXi     

                                        MR      =   PXi(1/MPXi) 

���"$"�%�'*  (1/MPXi)  ��'  �J���%���,���  Xi  �������
��"�34	�"��'��'*���,�,���

�
��"�34	  1  $	&�%  ��*	�4	  PXi(1/MPXi)  ��'��	�F	����
��"�34	�	��'*������,����
��"�34	 1 $	&�%  E3�*�?

��'  MC  	��	�'*    �
��)I)	�4	 
 

                MR    =   MC      �%���    MC =   ∆TC/∆Q 

                MR =    ∆TR / ∆Q 
 

 �%���                  MR     ��'     ��%��8�&�	�
��"  (Marginal  Revenue) 

                         MC     ��'     ��	�F	�&�	�
��"  (Marginal  Cost) 
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�"��'����J���%���,���$��%�	���)������)���K�=�
��*�
�������:*�F�  =�%����*��'	D�      

(VMPX1/PX1)  =  (VMPX2/PX2)  =  (VMPX3/PX3) 	��	��'  ��������)��'*��*7,	������

�J���%���,����F��	���&�"��	�	���,���   �%����)��'*����J���%�$�&�	�4	�	�)��8���'�����&�	�'*":��&�

,�,����
��"�&'�����J���%7�&�)�	��"��&���&���	�	�F��J���%  7�&�	���,����������'��D"&��"��H

����	�	���,���=�%����*��'	D�	�4D��'%&�*�"8:�#+  �	��'*�����������)"���'��������4*���	�*�	�F	  �3*��'*

�������
��"$��'���������J���%�	�����	��$	3�*�$�'%:&=�%����*�	�F	���"�������  $��'$��"��*�	�F	D"&������

�?'��D"&��"��H�
��"���,����$�'%:&�	�)��8���������)���K�=�
��*�
�������:*�F�D���	��'*���'��"�

,�,���''�"��	�)��8"�����	���"��'*����'*����  �
��)I)	�4	  �������,:�,����3*�)��'*

����	�	�����*7,	�������J���%���,����F��	���&�"��	�	��)���*'�����&�	�'*":��&�,�,����
��"�&'

�����J���%7�&�)�	��'%:&�	�)��8   
 

(VMPX1/PX1)  =  (VMPX2/PX2)  =  (VMPX3/PX3)  ≥    1    
 

,����������)$+��)���K�=�
��*�
�������'*�������J���%���,���  #  �)��8����

,�,����"�?�
�	KF+���� (Py)  ��&���8  7.22  8���&'�� ����"  
8�&�  "�":��&�,�,����
��"�'*������

�����	   (VMPX1)  "��&���&���8  4,134.17  7�)'�����&�	�'*":��&�,�,����
��"�'*�����������	�&'

���������	  (VMPX1/PX1) ��&���8  28.19  E3�*"��&�"����&�  1  7��*�&����,����"�?�
�	KF+����

��%	�� 1 �'*������� %�*��������	������&��)��8�������J���%���D�����D��:*�F�  ��*	�4	  �3*����
��"���"�#

�����������	  �	��'*�����"��H����*���D��$��
��"�34	D��'��   �%���$����&������	������,����
��"�34	  �)"�

��%D����������%,�,����
��"�34	  28.19 8���&'�&���&������	  1  8�� 

":��&�,�,����
��"�'*������7�**�	   (VMPX2)  "��&���&���8  16.97  7�)'�����&�	�'*

":��&�,�,����
��"�'*������7�**�	�&'����7�**�	  (VMPX2/PX2) ��&���8  0.11  E3�*"��&�	�'%��&�

��&�  1 7��*�&����,����"�?�
�	KF+������%	�� 1 �'*�������  ���7�**�	�:*��&��F�����$"�)�"  ��*	�4	  

�3*��������"�#������7�**�	�	���,����
��)$��%�*���7�**�	�:*�)����$������������F	 

�	��'*���������*7�**�	�
��"�34	  �)����$�"���%D����������%,�,����
��"�34	�
�%*  0.11   8���&'

�&����*7�**�	  1  8�� 

":��&�,�,����
��"�'*�������F	   (VMPX3)  "��&���&���8  62.74  7�)'�����&�	�'*

":��&�,�,����
��"�'*�������F	�&'�����F	  (VMPX3/PX3)  ��&���8  184.53  E3�*"��&�"����&�  1  

7��*�&����,����"�?�
�	KF+������%	�� 1 �'*�������  ����F	������&��F�����$"�)�"  ��*	�4	  �3*���
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�
��"���"�#�������F	  �	��'*�����"��H����*���D��$��
��"�34	D��'��   �%���$������F	�	���,����
��"�34	  

�)����$�"���%D����������%,�,����
��"�34	  184.53  8���&'�&��������F	  1  8��  (����*  4.31) 
 

�	�	�  4.31   ":��&�,�,����
��"����������J���%���,��� 
 

 

�E>>�� 
�	�)�*� 

 

�	�	�E>>���	�)�*� 
(Pxi) 

 


3��8	)�)�*�0-*�
 
(Py)(MPxi)=(VMPxi) 


3��8	)�)�*�0-*�
�8� 

�	�	�E>>��6 
(VMPxi/Pxi) 

�����	  (X1) 

7�**�	 (X2)   

�F	  (X3) 

146.67 (8./D�&/9�:) 

155.00 (8./��	-�	) 

    0.34 (8./$	&�%�F	)  

4,134.17 (8./D�&) 

     16.97 (8./��	-�	) 

     62.74 (8./$	&�%�F	) 

  28.19 

                   0.11 

184.53 

���"�: ���������	�#  #  �)��8����,�,����"�?�
�	KF+���� (Py) 7.22  8���&'�� ����"  
 

�"��'����%8���%8'�����&�	�)$�&�*":��&�,�,����
��"�'*�J���%7�&�)�	���&'�����'*����

�'*�J���%���,���7�&�)�	��  (VMPXi/PXi) 
8�&�'�����&�	�'*":��&�,�,����
��"�����'*�J���%	�4	 

M ��&���8 (VMPX3/PX3) > (VMPX1/PX1) >  (VMPX2/PX2) ������������������7�**�	7�)

�
��"�����������	7�)�F	  

 

 

 

 

 

 

 

 

 

 

 

 

                                                                 

6 ����*  4.32  $	��  78 
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�	�	� 4.32  ������	�#�&�  VMPXi 7�)  (VMPXi/PXi) 
 

�	���	��h�8	 (VMPXi)  ���  (VMPXi/PXi) 

              VMPXi     =    (MPXi)(Py) 

             Py ��'����,�,����"�?�
�	KF+����  ��&���8  7.22  8���&'�� ����" 
 
        VMPX1   =    (MPX1)(Py) 

                     =    (572.60)(7.22) 
                     =    4,134.17   
     VMPX1/PX1  =    (4,134.17)/(146.67) 

                          =    28.19 
 
     VMPX2   =    (MPX2)(Py) 

                          =    (2.35)(7.22) 
                       =    16.97   
     VMPX2/PX2  =    (16.67)/(155) 

                              =    0.11 

 
     VMPX3  =    (MPX3)(Py)                                 

                         =    (8.69)(7.22) 
                        =    62.74 
     VMPX3/PX3   =    (62.74)/(0.34) 

                        =    184.53 
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4.4  )��	��*0��	�B5�,��;����)������� 

�	���
3�����	�F	7�),��'87�	������,����"�?�
�	KF+������%	�� 1  �'*�������

�"����
:	%+�%�%�"�?�
�	KF+
����� 22 ��*$����F���O�+K�	�  �)
����#���	�F	��4*������	����*�	  (Explicit  

Cost)  7�)��	�F	���D"&���	����*�	  (Implicit  Cost)  ���$��8��	�F	������	����*�	 $"�%H3* ��	�F	���

��������&�%''�D����	�*�	�� D��7�& �&��"�?�
�	KF+ �&��FN%��"�  �&������"�  �&�	4��"�	���4'�
��*  

�&�7�**�	�	�&�	�'*7�**�	���*  �&�E&'"7E"�����'*����7�)'F���#+  �&��'��8�4%  �&���&������	  �&�	

��	�F	���D"&���	����*�	  ��'  ��	�F	����������D"&D���&�%�	�:��*�	����)�"�	�$����$��8�&��J���%���,���

�&�* M ������	�'*��������'*  D��7�&  �&�7�**�	�	��'8����  �&����% '����*�	�F	  �&�����'"����

�����'*����7�)'F���#+ E3�*��	�F	��4*������	����*�	7�)D"&���	����*�	 D��	��"�������)$+'*�+��)�'8�'*

��	�F	���,���   �%78&*''����	��	�F	,�	7��  (Variable  Cost: VC)  7�)��	�F	�*���  (Fixed  

Cost: FC)   

��	�F	,�	7��  (Variable  Cost: VC)  ��'  �&�����&�%�����������������J���%,�	7��  

(Variable  Inputs)  �	���,���  78&*''����	  3  �&�	  ��'  �&�	���$	3�*���	�&�����&�%�	���E�4'�J���%

���,����&�* M   D��7�&  �&��"�?�
�	KF+  �&��FN%��"�  �&������"�  7�)�&�	4��"�	���4'�
��*  �&�	����'*���	

�&�7�**�	�	��4*7�&�������%"��	D��	H3*����	�&*  �&�	�����"���	�&�����&�%'��	M  ��' �&�E&'"7E"

'F���#+��*��������  7�)�&����% '�����	�F	,�	7�� 

��	�F	�*���  (Fixed  Cost: FC)  ��'  �&�����&�%�����������������J���%���,����*��� (Fixed  

Inputs)  ��)�'8���%  �&���������	  �&�=���7�)�&���&������	  �&�����'"����'F���#+$��'�&���&�'F���#+ 

�������&��������F	$��'�����'*����'F���#+ �&��'��8�4%7�)�&����% '����*�	�*�F	  E3�*�������*�	�*�F	

��4*$"��	'�����'��8�4%��'%�)  5.5  8���&'�(  ('�����'��8�4%K	�����
��'��������7�)�$��#+

��������: K.�.�.) 

�������&�7�**�	  �������	���,����"�?�
�	KF+������%	�� 1  78&*''����	7�**�	�	

��'8����7�)7�**�	���*  E3�*7�**�	�	��'8�����)��)�"�	���'�����&����*7�**�	��4	�������	��%��	

�	��'*������������
3���  ��&���8 155 8���&'��	�&'�	  �&�	7�**�	���*������	'�����&����*���	��%��	

��&	���%���	  "�'����D"&�*�����"����#)�'*������" 

�&���������	  ������'�����&���&������	�	��'*H��	7�)��"=��������	  
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4.4.1  �,��;�>	��	�)�*�0
�c=-��C;5�,	� 

������
3���  
8�&���	�F	��4*$"��	���,����"�?�
�	KF+����  ��&���8  2,619.34  8��

�&'D�&   �%78&*�*�	��	�F	������	����*�	  ��&���8  1,731.74  8���&'D�&  ������	��'%�)  66.11  7�)

��	�F	���D"&���	����*�	  ��&���8  887.60  ������	��'%�)  33.83  �'*��	�F	��4*$"�   

�"��'7%�
����#�'*�+��)�'8�'*��	�F	���,���  D��7�&  ��	�F	,�	7����&���8  

2,256.49  8���&'D�&  7�)��	�F	�*�����&���8  362.85  8���&'D�&  ������	��'%�)  86.15 7�)  

13.85  �'*��	�F	��4*$"�  ��"�����8      ��	�F	,�	7��  ��)�'8���%  ��	�F	,�	7��������	����*�	  

��&���8  1,643.31  8���&'D�&  ������	��'%�) 72.83  �'*��	�F	,�	7����4*$"�  ��	�F	,�	7�����D"&

���	����*�	  ��&���8  613.18 8���&'D�&  ������	��'%�)  27.17  �'*��	�F	,�	7����4*$"�   �%

��"��H���7	���	�F	,�	7��''����	  3  �&�	  ��'  �&��J���%���,�����&���8  881.00  8���&'D�&  

�&�7�**�	��&���8  1,266.66  8���&'D�&  7�)�&�����&�%'��	 M ��&���8  108.83  8���&'D�&  ������	

��'%�)  39.05   56.13  7�)  4.82  �'*��	�F	,�	7����4*$"�  ��"�����8  ��	�F	�*���  

��)�'8���%  ��	�F	�*���������	����*�	  ��&���8  88.43  8���&'D�&  ������	��'%�)  24.37  7�)��	�F	

�*������D"&���	����*�	  ��&���8  274.42 8���&'D�&  ������	��'%�)  75.63  �'*��	�F	�*�����4*$"�   �%

���7	���	�F	�*���''����	  3  �&�	  ��'  �&���������	  �&�=���  �&���&���&���8  158.52  8���&'D�&  �&�

����'"����'F���#+��&���8  3.64  8���&'D�&  7�)�&��'��8�4%7�)���% '����*�	�*�F	��&���8  200.69  

8���&'D�&  ������	��'%�)  43.69  1.00  7�)  55.31  �'*��	�F	�*�����4*$"�  ��"�����8  (����*  

4.33) 
 

4.4.2  )�������>	��	�)�*�0
�c=-��C;5�,	� 

,�,����"�?�
�	KF+�'*��������I���%  ��&���8  564.27  �� ����"�&'D�&  ��������������

��%D��  7.22  8���&'�� ����"  ����$�"���%D��  ��&���8  4,074.03  8���&'D�&  �"��'$����	�F	,�	7��

��4*$"��)���	��%D���F�K��'*�������  ��&���8  1,817.54  8���&'D�&  7�)�"��'$����	�F	��4*$"��)

D�����D���*�
���
����+    ��&���8  1,454.69  8���&'D�&  7�)�"��'$�����%��	�F	������	����*�	��4*$"�

���	���D���*8����  ��&���8  2,342.29 8���&'D�&  7�)�"��'	�����D���*�
���
����+"�$�����%

,�,����I���%�&'D�&�)D�����D��I���%�&'$	&�%  ��&���8  2.58  8���&'�� ����"  (����*  4.34) 
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�	�	�  4.33  ��	�F	������,����"�?�
�	KF+���� 
$	&�%: 8���&'D�&�&'9�: 

 
�	��	� 

�,��;����?
80�v�
���0�*� 

(Implicit Cost) 

�,��;����0�v� 
���0�*� 

(Explicit Cost) 

 

�,��;���
 
(Total Cost) 

 

�,��������,��;���
 

�,��;�)����� 
1. �8	�E>>���	�)�*� 
  - �"�?�
�	KF+ 
 - �FN%��"� 
 - �����"� 
 - 	4��"�	���4'�
��*  
��
 

 
 

0.00 
0.00 
0.00 
0.00 
0.00 

 
 

214.94 
453.88 
 77.61 
134.57 
881.00 

 
 

214.94 
453.88 
 77.61 
134.57 
881.00 

 
 

  8.21 
17.33 
 2.96 
 5.14 
33.64 

2. �8	����	� 
 - ����%"��	 
 - ��:� 
 - ������	4�� 
 - �G'*��	������
���: 
 - ��&�FN% 
 - ��?8����%� 
 - �	��"�'* 
��
 

 
134.96 
 36.56 
 32.57 
287.43 
 23.57 
  0.00 
28.42 
543.51 

 
204.41 
 34.45 
26.27 
42.34 
30.61 

    340.55 
      44.52 

723.15 

 
339.37 
 71.01 
 58.84 
329.77 
 54.18 
340.55 
 72.94 

1,266.66 

 
12.96 
  2.71 
  2.25 
12.59 
  2.07 
13.00 
 2.78 
48.36 

3. �8	D<,>8	��.�� u 
  - �&�E&'"7E"'F���#+ 
  - �&����% '�����	�F	,�	7�� 
��
 

 
 0.00 
69.67 
69.67 

 
39.16 
  0.00 
39.16 

 
 39.16 
 69.67 
108.83 

 
1.50 
2.65 
4.15 

��
�,��;�)����� 613.18 1,643.31 2,256.49 86.15 
�,��;������ 
 1. �&���������	 �&�=��� �&���&� 
2. �&�����'"����'F���#+ (�&���&�) 
3. �&��'��8�4%7�)�&����% '���   
   �*�	�*�F	 

 
146.67 
3.64 

124.11 

 
11.85 
0.00 
76.58 

 
158.52 
3.64 

200.69 

 
6.05 
0.14 
7.66 

��
�,��;������ 274.42 88.43 362.85 13.85 
��
�,��;���/�B
= 887.60 1,731.74 2,619.34 100 

���"�: ���������	�#   
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�	�	�  4.34   ,��'87�	������,����"�?�
�	KF+���� 
 

�	��	� >�	���  
,�,����I���%: Average Product  (��./D�&) 564.27 
����,�,���: Price of Product  (8��/��.) 7.22 
��%D���I���%: Average Income  (8��/D�&) 4,074.03 
��%D���F�K�: Net Income  (8��/D�&) 1,817.54 
���D���*�
���
����+: Economic Profit  (8��/D�&) 1,454.69 
���D���*8����: Accounting Profit  (8��/D�&) 2,342.29 
���D��I���%�&'$	&�%: Average Unit Profit  (8��/��.) 2.58 

���"�: ���������	�#   

 

 

2,256.49

362.85

0.00

500.00

1,000.00

1,500.00

2,000.00

2,500.00

��	
�
 (�	�)

��
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�������

��
��
��
���

��
��
���� 

 

�3����  4.7  ��	�F	�*���7�)��	�F	,�	7���	���,��� 
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13.85%

86.15%

���������	 �����
���
�
 

 

�3����  4.8   ����&�	�'*��	�F	�*���7�)��	�F	,�	7���	���,��� 
 

 

 

881.00

1,266.66

108.83
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�$	*+��$	&,- 
 .

 

�3����  4.9  ��	�F	,�	7��7%���"��)�=��'*�&�����&�% 
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56.13%

39.05%
4.82%

������ 
�������
��� ��	�� 
 

 

�3����  4.10     ����&�	�'*��	�F	,�	7��7%���"��)�=��'*�&�����&�% 
 

 

 

158.52

3.64

200.69

0

50

100

150

200

250

��	
�
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��
��
���� �������

�$	*+��� �)
 /	0� �$	1+$	

�$	12- ,�,��'�34(�$	1+$	)

�,'1���&�(5�$	12�&6,'	2

 
 

�3����  4.11  ��	�F	�*���7%���"��)�=��'*�&�����&�% 
 

 

 

 


